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WICK LOOK-UP OPERATING INSTRUCTIONS

FOR A QUICK REFERENCE, 00K UP THE FOLLOWING SECTIONS:
1.C RBSTRACT
2.d REQUIREMENTS
4.1 LOADING AND OPERATOR ACTION
5.0 SWITCH OPTIONS
FOR A MORE COMPLETE EXPLANATION REFER "0 THE TABLE CF
CONTENTS BELOW AND THE FOLLOWING DOCUMENT.
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1.2 RBSTRACT

THE RW1]l LOGIC TESTS CONSIST OF A SERIES OF TESTS
RIMED RY CMECKING THE BRSIC LOGIC OF THE RKIl
CONTROLLER.

THE LOGIC TESTS CONSISTS OF TWC PARTS. THIS PROGRAM
IS PART-]1 AND IT CHECKS ONLY THE DRIVE-INDEPENDENT
LOGIC OF THE RK1] CONTROLLER (SEE SEC. 9-0). _1IT
SHOULD BE NOTED THAT LOGIC TEST-I AND LOGIC TEST-II
TOGETHER CONSTITUTE R COMPLETE PROGRAM AND HENCE
BOTH OF THEM SHCULD BE RUN.

JSED CORRECTLY THIS PROJSSM CAN BE AN EFFECTIVE
ANALYTIC AND DIAGNOSTIC Toul.

YpiirogRe-E. Rxll BASIC LOBIC TEST 1 ™MACYiL 32.104 Ob-JUN-7

REGUIREMENTS
EQUIPMENT
POP11 WITH CONSOLE TELETYPE.

H.
B. 8K OF MEMORY
C. RK1! OR RKVI1 CONTROLLER

v
.
(W}

AV ]
»—

c.2 PRELIMINARY PROGRAMS
NCNE
g.3 EXECUTION TIME

ERROR FREE FIRST PRSS 2N PDP11/20 WITH CORE MEMCRY
TAKES APPROXIMATELY ONE MINUTE. CONSIDERARBLY LESS
FOR FASTER MACHINES OR MEMCRIES.

3.0 STARTING RDDRESS
200 FOR ANY MODE OF OPERATION. NCRMAL START UP KI'm
ALL SWITCHES DOWN.
«.0 PROGRAM CONTRGL MODES & OPERATOR ACTION
PAPER TAPE LOARDING
RKDP DUMP MODE ’
RKDP CHRIN MODE
ACT1}
4.1 PAPER TRAPE LORDING

4,1.1 LORD PROGRAM INTC MEMCORY JSING STANDARD PROCEDURE
FOR .ABS TAPES.
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4.1.2 PUT THE DRIVES ON °WRT PROT' AND °'LORD' RS A
PRECAUTION AGAINST MALFUNCTIONING.

4.1.3 LOARD RDDRESS 200

4.1.4 SET SWITCHES IF DESIRED (SEE SEC 5.C IF TESTING ON
SIMULATOR PUT SW 10 UP.

PRESS START.
4.1.5 THE PROGRAM IDENTIFIES ITSELF (NRME,MRINDEC NO:.

RK1! LOGIC TEST I
MAINDEC-11-DZRkJ-E

4,1.6 THEN THE PROGRAM PROCEEDS WITH TESTING. AT THE END
OF A PRSS THE FOLLOWING TYPE-QUT OCCJRS

END PASS & X

WHERE X= PASS NUMBER (1,2,3---), CONTROL IS PASSED
T0 THE BEGINNING OF THE PROGRAM AND RE-EXECUTICN

BEGINS.
4.1.7 ERROR FREE PRSSES OF THE ©°ROGRAM RPPEAR RS SHOWN

BELCMW.

RK1: LO

G
END PASS
END PRSS

RKDP DUMP MODE

4.2.1 THE PROGRAM IS LOADED INTC THE MEMCRY BY TrE RKCP
MONITOR

START HS NORMALLY USING SA 230

4.2.3 THE PROGRAM IDENTIFIES ITSELF (NAME,MRINDEC NO.) AND
PROCEEDS WITH TESTING.

+.3 RKDP CHAIN MOOE

THE PROGRAM IS CHAIN-LGADED FROM_THE RKDP PHCK. RFTER
THE PROGRAM IDENTIFIES ITSELF, IT PROCEEDS WITH TESTING.

4.4 ACT11 MODE
THE PROGRAM IS LORDEDL BY THE RACT1]l MONITOR. _ ON

STARTING, IT PROCEEDS WITH THE EXECUTION OF THE TESTS
RS BEFORE, BUT THE TITLE IS NOT TYPEC OUT.

£z
fu

L
n)
v




LUl

MC-ii-CoRRJ-E, Skl BASIS LOGIC TEST [ MACYIL 3T.0124E  06-JUN-77  14-40 PAGE £
IR CELRPLL 19-APR-77 09: 14

tn
o

5.1

5.2

SWITCH OPTIONS

IF THE PROGRAM 1S BEING RUN ON A SWITCHLESS PROCESSOR (I.E. AN 1134,
THE PROGRAM WILL DETERMINE THAT THE HARRDWARE SWITCH REGISTER IS

NOT PRESENT AND WILL USE A 'SOFTWARE' SKWITCH REGISTER. THE
"SOFTWARE" SWITCH REGISTER IS LOCATED AT LOCATION 176 (8). THE
SETTINGS OF THE *SOFTWARE’ SWITCHES ARE CONTROLLED THROUGH A KEYBOARL
ROUTINE WHICH IS CALLED BY TYPING A 'CONTROL G'. THE PROGRAM WILL
RECOGNIZE THE ’'CONTROL G' WHENEVER THE PROGRAM ENTERS

THE SCOPE ROUTINE OR BEGINS R NEW TEST. THE
"SOFTWARE® SWITCH VALUES ARE ENTERED RS AN OCTAL NUMBER IN RESPCONSE

TC THE PROMPT FROM THE SWITCH ENTRY ROUTTNE:
"SWR = NNNNNN NEW =’

EACH TIME SWITCH SETTING ARE ENTERED, THE ENTIRE SWITCH REGISTER
IMAGE MUST BE ENTERED. LEADING ZERO5 ARE NOT REQUIRED., 'RJBOU™" AND
"CONTROL U°® FUNCTIONS MAY BE USED T0O CORRECT TYPING ERRORS

OURING SWITCH ENTRY.

ON PROCESSORS WITH HARDWARE SWITCH REGISTERS, THE *SOFTWARE® SWITLH
REGISTER MAY BE USED. IF THE PROGRAM FINDS ALL 16 SWITCHES IN THE
up” POSITION, ALL SWITCH REGISTER REFERENCES WI.L BE 7O THE
éEOESEEQEéDREuISTER AND THE PROCEDURES DESCRIBEC ABOVE MUST

HALT ON ERROR

SW(15>=]

Sl =1 LOOP ON TEST

SW<(13>=1 INHIBIT ERROR PRINTOLTS

SW(la>=1 CYCLE ON ERROR T0 THE PREVIOUS
"SCOPE’ STATEMENT

Sl¢llr=t INHIBIT ITERATIONS

Swaldy=l TESTING ON SIMULRTOR

SW<0P =1 LOOP ON SPECIFIC ERROR

SW¢08>=1 LOOP ON TEST RS PER SW«07:00»

SW<«15>

THE PROGRAM HALTS ON ENCOUNTERING AN ERROR, AFTER
TYPING OUT THE ERROR MESSAGE AND PERTINENT
INFORMATION. PRESSING “CONTINUE® RESTORES NJRMAL
OPERATION OF THE PROGRAM.

SWclW

THE PROGRAM LOOPS ON THE SUBTEST THRT IS BEINg
EXECUTED WHEN THE SWITCH IS PUT ON. THIS SWITCH I3
USED NORMARLLY ALONG WITH SW 15. SEE SEC B.C.

S <1

THIS SWITCH INHIBITS ALL ERROR MESSAGES.  NORMALLY
LUSED WHEN LOOPING ON TEST (SW I4. OR LOCPING ON
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ERROR (SK 9;.
SW <12

THIS SHITCH ALLOWS THE PORGRAM TO CYCLE FROM THE
POINT ERROR TO THE PREVIOUS SCOPE STRTEHENT

NOTE_ runraéglogrnc 80 oY INITIALIZaTION BEING DONE
6D AGATN. SEE SEC B0 FoR DIPFERENT TECOPE- ¢ COPS

SW <1
ERCH SUBTEST WILL BE EXECUTED ONLY ONCE. NORMALLY

AFTER THE FIRST PASS, EACH SUBTEST IS ITERATED A
NUMBER OF TIMES (USUALLY IN SQME CASES).
NG THIo i TaH —INHIBItS ~ITERATIONS, 50 TRA
QUICK PASSES CAN BE MADE.

SW «1D

THIS SWITCH WHEN SET INDICRTES THAT TESTING IS BEING
DONE ON_ A SIMULATOR. THE SWITCH SHOULD BE PUT JP
BEFORE START- ING THE PROGRAM. NOTE THAT RK1IC IS
NOT COMPATIBLE WITH THE SIMULATOR.

5.7 SW <O

THIS SWITCH PROVIDES THE TIGHTEST POSSIBLE SCOPE
LOOP.  NOTE_ THAT UNLIKE SWi2 THE INITIALIZATION OF
PARAMETERS AT THE BEGINNING OF THE SUBTEST MAY NO”
BE DONE IN THIS CASE. THIS SWITCH IS HELPFUL WHEN A
PARTICULAR PART OF A SUBTEST IS BEING REPERTED USING
DIFFERENT PARAMETERS AND_ YOU WANT TO SCOPE ON THE
PARAMETER IN ERROR.~ (EXQMPLE: RKOA 13 BEING WEITIEN
A TREAD BRCK H13H COONT PATTERNG FRONM 1.T0 17777
PRTTERN S61 1 CIVING ERROR. YGU RIGHT NOT WANT 10
GO THROUGH THE 560 PATTERNS BEFORE HITTING ERROR ON
THE SEITH PATTERN. ~ IN THIS CASE SW 8 MILL GIVE  vOL
A SCOPE LOOP ON THE S61TH PATTERN ONLY.)

SW <08

THIS SWITCH IS USED TO SELECT A PARTICULAR TEST (RS
PER SW¢D0-07>) FOR EXECUTION AND SUBSEQUENT LOOFING.
THUS IF TEST 15 IS TO BE SELECTED THE SWITCH SETTINS
WOULD BE 000415. IT SHOULD BE NOTED THAT BEFORE
SELECTING TEST 1S, ALL THE PREVIOUS TESTS (l-i4’
WILL BE EXECUTEC.

N
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£.2 SCOPE LOCPS
THERE ARE THREE KINDS OF SIOPE LICPS AVRILWBLE
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SA14: LOOPING IS DONE FOR THE ENTIRE SuB-TESY

SW12: LOOPING IS DONE FROM THE POINT OF ERRCK
BACK TO THE PREVIOUS °"SCOPE' STRTEMENT.

SW0S: PROVIDE THE TIGHTEST POSSIBLE SCOPE LOOP
SEE SEC. 5.7

EXAMPLE :

T8T1:

T1ST2:

THE

SCOPE

INITIARLIZATION
ERROR 1
éRROR e
ERROR 3
éRROR Y

SCOPE
SEQUENCE OF LOOPING FOR DIFFERENT CRSES IS

EXPLAINED BELOW. _ NOTE THAT "TSTL® AND *TST2' ARE
TAGS WHICH DEFINE THE BOUNDARY CF A TEST, (IN THI3
CASE TEST 1). TEST I STARTS AT "TST1® ARD ENDS TUsT
BEFORE "T5T2°.

IN THE ILLUSTRATION BELOW --)> INGICRTES THE POINT
FRCM WHERE RETURN IS MRDE AND LOGPING IS DONE.

1.

TSTL..

2.

TST1..

3.

TSTI..

ERROR 2 OCCURS, SW 14 SET.

ERROR 2..TST2-->TST1..ERRCR 2..715872---1871..
ERROR 2 OCCURS, SW 12 SET.

.ERROR 2--.7TSTl...ERROR2-->TSTl...

ERROR 2,3; SW 14 SET.

ERROR 2..ERROR 3..TST2--,TST1..ERROR 2..ERRCR

3..78Te-->7ST1..

4.

TSTL..

ERROR 2,3; SuW 12 SET.
.ERROR 2-->TST!...ERROR 2-~->TSTI...

NCTE THAT LOOPING IS CONE FROM THE VERY FIRST ERROR
ENCOUNTERED.  THE MORE BRSIC AND ERROR THE ERRLIER
IT OCCURS ANC IS DETECTED AND SHOULD BE FIXED.
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IN THE ABOVE EXAMPLE NO PART OF THE SUB-TEST IS
BEING REPEATED USING DIFFERENT PARAMETERS, HENCE 17

oS HhE TEiele” BEoL® O ’BEnBﬂE#m%E" hE

DIFFERENCE BETWEEN SW 9 AND 12

TST1:  SCOPE
INITIALIZATION
ERROR 1
MOV #1$.SLPERR ."$LPERR'  CONTAINS
: THE ADDRESS TO LCOP
’ :BACK ON ERROR- SW 9
1$: : —
ERROR 2 % N REPETITIONS
T5T2:  SCOPE —--
SW 12 SET. ERROR 2 OCCURS DURING Kk.'H
REPETITIONS

TSTi..1,2...K.ERROR 2-->TST1..1,2...K.ERROR -->TST]..
2. SW 9 SET, ERROR 2 OCCURS DURING K.TH REPETITION
1. .K..ERROR 2-->1%..K..ERROR 2-->18...

7.0 PRCGRAM DESCRIPTION

IN THIS PART OF THE PROGRAM THRT PART OF THE Rkll
CONTROLLER IS CHECKED WHICH DOES NOT DEPEND ON
SIGNALS FROM THE DRIVE. THUS A DRIVE IS NOT NEEDEC
FOR_THIS 7TEST, BUT IT SHOULD BE NOTED THAT THE
PART-II OF THE ‘BASIC LOGIC TESTS' MUST BE RUN, IN
ORDER TG GET A COMPLETE COVERAGE.

THE TESTS ARE GRADUALLY BUILY UP, CHECKING THE MCST
BASIC AND SIMPLE LOGIC FIRST AND THEN PROGRESSIVELY
MORE COMPLEX LOGIC.

THE FIRST TEST CHECKS THAT ALL RKIl1 REGISTERS CAN BE

?ﬁ?%?EE%EEmN“&E?E%F Ré‘”‘?‘é CHECKED. THEN 17 1€
CHECKED L REGIST CAN EE HSITTEN AND RERD

CORRECTLY BY FLORTING Q * AND THEN USING A COUNT
PATTERN. THEN IT IS CHECKED THAT THE RK!1 REGISTERS
CAN BE CLEARED USING CONTRCL RESET AND RESET (BUS
INIT). FINALLY, THE WORD AND BYTE ADORESSING LJGIC
OF RK11 IS CHECKED TO SEE THRT EACH REGISTER IS
UNIQUELY ADDRESSED.
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8.0 ERROR REPORTING

THE ERROR TRABLE STRRTING AT  SERRTB CONTRINS
INFORMATION PERTARINING TO EVERY ERROR THAT CAN

OCCUR. EACH ITEM IN THE TRBLE CONSISTS OF FOUR
ENTRIES.

A. EM - THIS IS A POINTER TO THE ERROR MESSAGE TO
BE TYPED OUT WHEN THE ERROR OCCURS.

B. DH - THIS IS A POINTER TO THE DATA HEADER YO BE
TYPED OUT.

C. OT - THIS IS A POINTER TO THE DATA WHICH IS 70
BE TYPED TYPED OUT UNDER THE HERDERS.

D. 0 - THIS IS A TERMINATOR SIGNIFYING THE END OF
THE ITEM.

THE ERROR CALL IS AN EMT INSTRUCTION WITH ITS LOWER
BYTE ENCODED TO INDICATE THE ERRCR NUMBER. THUS
“ERROR 1" WOULD BE (EMT+1) IE 104001.

EVERY ERROR CORRESPONDS TO AN ITEM IN THE ERROR
TABLE. THUS "ERROR 14" WOULD CORRESPOND TO ITEM 1M.
AS FAR RS POSSIBLE, THE ERROR MESSAGES HAVE BEEN
KEPT SHORT. BUT CLARITY IS NOT SACRIFICED FOR
BREVITY. INSPITE OF THIS, IF THE USER FINDS A NEED

HE CAN LOOK UP THE ENTIRE ERROR MESSAGE IN THE ERROR
ITEMS TABLE FOUND IN THE BEGINNING OF THE LISTINGS.
THUS FOR “ERROR 14", “ITEM 14" IN THE ITEM TABLE CAN
BE LOOKED UP. WHEN THE ERROR INSTRUCTION IS
EXECUTED R TRAP OCCURS TO THE ERROR HANDLER LOCARTED
Tg gsnnoa WHICH PROCESSES THE ERROR CALL. SEE SEC

g.C ERROR INTERPRETATION

WHENEVER AN ERROR MESSAGE IS PRINTED OUT, ALL
REGISTERS AND GTHER DATA PERTAINING TO THE ERROR ARE
ALSO GIVEN. RKDS, RKER...RKBA INDICRTE THE CONTENTS
OF THE CORRESPONDING REGISTERS RT THE TIME OF ERROR.

EVERY ERROR MESSAGE CONTAINS A PC.  THIS PC
INDICATES THE POSITION IN PROGRAM WHERE THE ERROR
CRLL IS LOCATED. THE ERROR MESSRGE, BECAUSE OF
PRACTICAL  CONSIDERATIONS IS MADE SHORT  AND
MEANINGFUL. THE USER IS ADVISED §0 LOOK UP THE PC
IN THE PROGRAM LISTING, WHERE ME WILL FIND MORE
INFORMATION ABOUT THE ERROR. IN MANY INSTANCES, A
SINGLE FAULT WILL GIVE RISE TO MURE THAN ONE ERRGR
REPORT. A LITTLE DELIBERAWION AND  CAREFUL
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EXRAMINATION OF THE DATA GIVEN WILL BE CERTRINLY VERY
HMELPFUL IN PINPOINTING THE  FAULT. A BRIEF

EXPLANARTION OF WHAT IS BEING CHECKED IN THE SUBTEST
IS GIVEN AT THE BEGINNING OF EVERY SUBTEST. ALL THE
NUMBERS GIVEN WITH ERPOR MESSAGES ARRE iIN OCTAL.

0.0 HANDLERS AND COMMON ROUTINES

THE COMMONLY USED ROUTINES USED IN THE PROGRAM ARE
CALLED IN TWO WRYS.

R. AS A SUBROUTINE THROUGH 'JSR® CALL
B. THROUGH R 'TRAP' HANDLER
1.1 TRAP HANDLER

MANY COMMONLY USED ROUTINES IN_THE PROGRAM_ ARE
CALLED USING THE TRAP INSTRUCTION AND THE 'TRAP’
HANDLER. THE LOWER BYTE OF THE TRAP INSTRUCTION IS
ENCODED DIFFERENTLY FOR_ DIFFERENCT ROUTINES. THE
TRAP HANDLER IS LOCATED AT 'STRAP’. WHEN A CALL FOR
A ROUTINE IS EXECUTED, R TRAP OCCURS TO THE HANDLER
AT 'STRAP’. THE HANDLER PICKS UP THE LOWER BYTE OF
THE “CALL INSTRUCTION™ AND USES IT 7O FORM THE
gggs}égc ADDRESS CF THE ROUTINE TO GO TO FOR

10.¢2 SCOPE HANDLER . ]

THE 'I0T’ TRAP IS USED BY THE 'SCOPE’ STATEMENT.
WHEN 'SCOPE’ IS EXECUTED, AN IOT TRAP OCCURS TO
MEMORY LOCATION *SSCOPE'. THE SCOPE HANDLER STARTS
AT S$SCOPE. DEPENDING ON THE SWITCH SETTINGS THE
HANDLER DECIDES TO LOOP ON TEXT, INHIBIT ITERATIONS
ETC. THERE ARE CERTAIN POINTERS AND FLAGS WHICH ARE
ADJUSTED. THUS, IT IS NOT ADVISABLE TO GTART THE
PROGRAM AT ANY GIVEN LOCATION SINCE THE VARIOUS
POINTERS AND FLAGS MRY NOT BE CORRECTLY ADJUSTED.

10.3 ERROR HANDLER

AN EMT TRAP INSTRUCTION IS USED BY THE ERROR CALL.
THE LOWER BYTE IS ENCODED 10 GIVE DIFFERENT ERROR
CALLS. (EX: ERROR 1 = 104000+1: ERROR 16 =
104000+16). WHEN THE ERROR STATEMENY IS EXECUTED, A
TRAP OCCURS TO MEMORY LOCATION ’SERROR'. THE ERROR
HANDLER IS LOCATED AT 'SERROR’. THE HANDLER FORMS
THE POINTER T0 ERRGR TABLE, WHICH IS USED IF AN
ERROR MESSAGE IS TG BE TYPED OUT. DEPENDING ON THE
SWITCH SETTINGS, & DECISION RBOUT HALTING ON ERROR,
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INHIBITING TYPEOUT, LOOPING ON ERROR ETC. IS MRADE.

gl 58 TRRSRe 58 Sl el LBl

iC.4 CONTROL RESET ROUTINE

DGR, TS RN I8 O PR
55383580 THE con?BOL RégET ROUTINE srha? NG R

“CN.RST” IS ENTERED. A CONTROL RESET IS ISSUED AND
THE PROGRAM WAITS TILL THE CONTROL READY SETS, ON
WHICH THE ROUTINE IS EXITED. IF CONTROL READY DOES
NOT SET WITHIN A CERTAIN TIME AN ERROR IS REPORTED.
THE ~ PC TYPED OUT IS THE LOCATION WHERE THE
“CNT.RESET” CALL IS LOCATED. THE WAITING TIME IS
ﬁéﬁon¢s FOR 1120 AND 560 US FOR 11/45 WITH BIPOLAR

10.5 CONTROL READY ROUTINE

THIS ROUTINE IS CALLED BY "CNT.ROY” (AN ENCODED
"TRAP' INSTRUCTION} AND IS LOCATED AT "CN.RDY". THE
ROUTINE WARITS FOR THE CONTROL READY TO SET AND WHEN
IT DOES, EXITS OUT. 1IF CONTROL READY DOES NOT SET
WITHIN A SPECIFIED TIME AN ERROR MESSAGE IS GIVEN

CNTRL RDY DIDN’T SET
PC = XXXXXX RKCS = YYYYYY

THE PC IS THE L.OCRTION AT WHICH THE “CNT.ROY" CALL
IS LOCATED. THE WAITING TIME IS 949 MS FOR 11-20
AND 189 MS FOR 11,45 WITH BIPOLAR MEMORY.

1.6 TIME DELAY ROUTINE

THIS ROUTINE PROVIDES A VARIABLE TIME DELAY. _THE
CALL IS ODELAY N WHERE N=1 TO 177777 (OCTAL) TIME
DELAY PROVIDED= 7.5 TIMES( X 1} N MICRO SECS FOR
11420, 1.SN US FOR 11,45 (N CONVERTED TO DECIMAL
BEFORE COMPUTING DELAY) IF THE USER WANTS TO CHANGE
THE DELAY AT ANY POINT IT CAN BE DONE BY SIMPLY

CHANGING VARIABLE 'N°.

10.7 OTHER ROUTINES

EEEQE ARE OTHER COMMONLY USED ROUTINES RS LISTED

$TYPE:

TYPE ROUTINE FOR TYPING OUT ASCII STRINGS.
LOCRTED AT "STYPE™
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CALLED BY "TYPE"
STYPOC:
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ROUTINE FOR TYPING OUT OCTAL NUMBERS.

LOCRTED AT “STYPOC*
CALLED BY "TYPOC™

STYPDS:

ROUTINE FOR TYPING OUT DECIMAL NUMBERS.

LOCATED AT “STYPDS"
CALLED BY "TYPDS™

SERRTYP:
ROUTINE FOR TYPING OUT ERROR MESSRGES.

LOCATED AT SERRTYP

CALLED BY “JSR SERRTYP"

$PWRDN, SPWRUP:

ROUTINE FOR HANDLING POWER FRILURE/POWER UP.

LOCRTED AT SPWRDN, SPWRUP

SPWRFL, CALLED WHEN THERE IS A POWER FAILURE.
SPWRUP, CALLED WHEN THERE IS R POWER UP.

11.0 UNEXPECTED TIMEOUTS AND RK11 INTERRUPTS

WHEN AN UNEXPECTED TIMEQUT OCCURS, THE PC AT WHICH
TIME OUT OCCURED IS TYPED OUT AND THE PROGRAM HALTS.
IF IT IS INTACT, IT CAN BE RESTARTED BY PRESSING

CONTINUE.

IF AN UNEXPECTED RK11 INTERRUPTIOCBURS THE PROGRAM
TYPES OUT THE PC AT WHICH THE INTERRUPT CRME IN ANC
THEN HALTS. PRESSING CONTINUE WOULD RESTART THE

PROGRAM FROM BEGINING.

SW 9- LOOPING CAPABILITY IS

PROVIDED RS A TROUBLE SHOOTING RID.

12.0 QUICK VERIFYING MODE

THE FIRST PASS GF THE PROGRAM IS A QUICK VERIFYING
MODE. ALL THE TESTS ARE DONE ONLY ONCE, ON
SUBSEQUENT PASSES THE TESTS ARE ITERARTED _(NOPMALLY

SO TIMES

IN SOME CASES).

THUS THE FIRST PASS

S
TAKES A SHORTER TIME TO COMPLETE, WHEREAS SUBSEGUENT

PASSES TAKE MORE TIME.

LU LA L U
oo m
400 - JTn
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6~ _TITLE MD-11-DZRKJ-E, RK1l BRSIC LOGIC TEST |

675 »copvnxcnr (C) 197y, 1977

56 ;oxcxrnt EQUIPMENT toap

g:'s' MAYNRRD, MRSS. 01754

N,

ggg ;paocnnn BY JIM KRPADIR

=

58i ;Tuxs PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
255 *pncxncs (MRINDEC-11-DZQRC-C3), JAN 19, 1977.

584 .Jnnunnv 1975

ggg .;BTTL OPERATIONAL SWITCH SETTINGS

£87 ik SWITCH USE

5ee :# ===ee=  —esccescocccscsccao-

£89 t¥ 15 HALT ON ERROR

£9C s ¥ 14 LOOP ON TEST

£3! Y 13 INHIBIT ERROR TYPEOUTS

g3z ;% 12 CYCLE ON ERROR TO PREVIQUS "SIOPE° S™ATEMENT
£93 s 11 INHIBIT ITERATIONS

€34 Sy 10 TESTING ON SIMULATOR

€ac Sy 9 LOOP ON ERROR

£3% - 8 LOOP ON TEST IN SWR:7:2

£3s

£3¢

At ¥ %\

ol . sPROGRAM REVISED 8Y TOM SAWYER, MARCH 1978 d

Dfor- ' ¥REVISED BY CHUCK HESS, AUGUST 1376

__gj l*ii!*!l!i!llllil!ll!!iil!!lli!lilﬂliil!i!}ll!!llilliiili!ii!ii
735 .YOU ARE ADVISED TO RERD THE DOCUMENT BEFORE USING THIS PROGRAM.

708
70 :ON GETTING AN ERROR REFER TO THE LISTINGS AT THE PC POINTEL
729 OUT IN THE ERROR MESSAGE. RDJACENT ERROR_HESSQGES IF FOLLOWED
;72 CQREFULLY COULD LERD TO AN ERSY PINPJINTING OF THE FRULY
Tl SEEFRRRAERERREERFRARERA IR F AR R BRI ER RN R AR RRRRER R RERERRRERS
Zi% "SBTTL BRSIC DEFINITIONS
™
7.4 -#INITIAL ADDRESS OF THE STACK POINTER x#¥ 1100 #x#
7.E 001100 §YACK= 110C
;,g .EQUIV EMT, ERROR ::BASIC DEFINITION OF ERRCR CR.L
éga LEQUIY I0T,SCOPE . ;BRSIC DEFINITION OF SCOPE CRLu
-
Tie - ¥MISCELLANEQUS DEFINIT IONS
728 00001 1 7= 11 ;CODE FOR HMORIZONTAL TRB
7€ 00001@ LF= 12 ..CODE FOR LINE FEED
Zgg 018181838 CR= IS :CCDE FOR CARRIRGE RETURN
(Es 00Ce00 CRLF= 200 ,.,ODE FOR CRARRIRGE RETURN-_INE FEEC
- 7?777E PS= \7777E - PROCESSOR STRTJS WORD
zs LEQUIY  PE,PSU
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LU
MC-11- JORhI-E. Rl BASIC LOGIC TEST 1 MACYI1 3011046) 08-JUN-7T 14:40 PRAGE 1S
ZIRKJE.PL 19-APR-7 09: 14 BASIC DEFINITIONS
28 177y STKLMT= 177774 ::STACK LIMIT REGISTER
e 172 PIRQ= 177772 : ;PROGRAM_INTERRUPT REGUES™ RESISTER
o8 177579 DSWR= 177670 : |HAROWARE SWITCH REGISTER
2 177873 00ISP= 177570 : { HARDWARE DISPLAY REGISTER
3. ; GENERAL_PURPOSE REGISTER DEF INITIONS
ndc 00000C RC= "0 ;GENERAL REGISTER
% 200002 Re: 2 g
P 205003 R3= %3 .,EEEE GISTER
3€ 000004 RY= %4 GENERRL REGISTER
Iy 000005 RG= 5 ; ;GENERAL REGISTEP
~38 000006 RE= ,,GENERRL REGISTER
33 000007 R?= e : GENERAL REGISTER
T2 000006 SP= % : ;STACK POINTER
N 0000CT PC= t  {PROGRAM COUNTER
=
a3 . #PRIORITY LEVE. NFFINITIONS
. 009390 PRO= O : ;PRIORITY LEVEL O
45 000040 PR1= 40 : iPRIORITY LEVEL ]
“E 232100 PR2= 130 . \PRIORITY LEVEL 2
N 0C14C PR3z 140 L 1PRIORITY LEVEL 3
4g 90203 PRY= 200 ..PRIORITY LEVEL 4
™43 ACgg40 PRS= 240 :PRIORITY LEVEL §
TsS 003300 PRE= 300 : :PRIORITY LEVEL &
3 0C0343 PR?z 340 . iPRIORITY LEVE. °
TE3 +"SWITCH REGISTER™ SWITCH DEFINITIINS
54 19090¢ &uiez 100000
TES 040000 SWid= 40000
7Sk 02000C SWi3= 20000
e 010003 SWie= 10000
758 204900 SWli= 4000
7€3 502000 Swi0= 2000
TED 001002 SW09= 1000
7. 000400 SwO8= 400
"he 090200 SWC7= 200
763 900100 SWpe= 100
764 000040 SWpS= 40
78S 000C20 SWh4= 20
TEE 900G C SWo3= 10
£7 000004 SWi2= 4
7E8 250002 Sugl= 2
P 20220: SWaCz 1
T EQUIV 5W09,Sk3
o EQUIV SW08, SWe
e EQUIV  SWO7, Si:
7z EQUIV SWOB, SWE
77 EQUIV  SWOS, SWS
o EQUIV  SWON, Sy
T7E EQUIY 5WO3,5u3
ol EQUIV SWO2, SWe
T JEGUIV  SuG],Su]
2 JEQUIV  Sw00,5W0

"z, . $0RTH BI™ DEFINITIONG (BIT02 ~: BITIS
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MO L. IIRRC-E, Qnll BRSIC LSS0 TEST L MACYLL 30013460 OB-JUN-TT  14:40 PRGE 1S
LTI B 13-RPR-T" J9: (4 BRSIC DEFINITIONS
~82 122010 BITIS= 100000
-5 325080 fiiy 2
t8e <12000 81'12= 1000
~3f J0400C BITli= 400C
~a” 2C230C BITi0= 2000
8§ 9C1000 B1709= 1000
o89 0C040C BITO8= 40OC
€L 00020C 8I1707= 200
BN 20C10C BIT06= 100
"8z 200040 BITOS= 40
"3z £0gec BITQ4= 20
T3 800013 BI733= 10
o3 03004 §1702= M
3t 2000C2 BITOl= 2
-9 300cc: BIT00= |
o3 .EQUIv BIT09.3179
39 .EQUIv BIT08.BIT8
eJC .EQUIv BII1C7,BIT7
laf "EQUIV BITOe.BITH
lak. .EQUIV BII0S,BITS
823 -EQUIV BITO4,BITH
a2 .EQUIV BITO03,BIT3
82s .EQUIv BIT02,BIT2
8% 'EQUIV BITOI.BITI
Bgé .EQuIv BI“30,BITC
8C9 - #BRSIC “CPU™ TRAP VECTOR ADDRESSES
Heo CCOOCH4 ERRVEC= 4 ;. TIME OUT AND OTHER ERRORS
gll 300012 RESVEC= 10 : ;RESERVED AND ILLEGAL INSTRUCTIONS
S.c 0CO0i4 TBITVEC=14 i1 BIT
g3 000014 TRIVEC= 1M ; : TRACE TRAP
El4 30C014 BPTVEC= 1M : ;BREAKPOINT TRAP (BPT,
2.5 00002C I0TVEC= 2C : s INPUT/QUTPUT TRAP (I0T) ##SI0PE4s
8.5 J0C024 PWRVEC= 24 : ; POWER FRIL
817 000030 EMTVEC= 30 :;EMULATOR TRAP (EMT. #sERRORex
2.5 20OC3H TRAPVEC=34 ::“TRAP™ TRAP
g.9 000CED TKVEC= B0 ::TTY KEYBORRD VECTOR
82C 0000e+ TPVEC= &M :;17Y PRINTER VECTOR
82! 000248 PIRQVEC=24C : ; PROGRAM INTERRUPT REQUEST VECLTOR
ggg .SBTTL TRAP CATCHER
824 352ene .=0
8cc - #¥ALL UNUSED LOCATIONS FROM 4 - 776 CONTAIN R = 42 AL T"
g2t : #SEQUENCE TO CRTCH ILLEGAL TRAPS AND INTERRUPTS
gsg 000174 ;*LOCQTIOHIQHCONTRINS 0 TO CATCH IMPROPERLY LORDED VECTORS
7 .=
3 9008174 0000CC DISPREG: .wWORD O ; : SOFTWARE DISPLAY REGISTER
830 00CI17e (02000 SWREG: .WORD U : s SOFTWARE SWITCH REGISTER
gzl .SBTTL STARTING ADORESS(ES) i
82 J0C200 000137 001642 IMP J8STRRT ;; JUMF T0O STARTING RDDRESS OF PRCGRRM
ggs .SBTTL ACT1! HOOKS
X o ERFAREARREES R AL AR RN AR AR LR AR AR RARR I RRASRARGR IR IR RR R AAS
S2E o :HCOKS REQUIRED Br ACTI!
=2 e $S/PC=. :SAVE o
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MT-11-C2RnJ-E, Rk!]l BASIC LOGIC TEST I MACYL! 30:(1046) 06-JUN-77 14:40 PRGE 17

SXRetE iy 19-APR-7T 39: 14 ACT11 HOOKS
238 ~naoup  pomaCt §ENGAD 1)SET LOC.46 TO AODRESS 5F SE'CAC % .$E<c
32 ~=-ov BRREY e b ’ -8R
847 23382 399000 ‘WORD O [:2)SET LOC.52 TC ZERC
343 300204 =§5VPC  {CRESTORE P

=]
- -
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STas glrl-t, Bﬂiav -OuIL TEST I MACYL! %0(1046) D6-JUN-TT 14:40 PRGE 18
Slele R -a 1ARo=27 30714 COMMON TAGS
g:g .SBTTL COMMON TRGS
846 CREAERRREE R AR R R R RN SRR AR R AR AR R RN R RR O PR R SRR RI SRR S
quT iTHIS TABLE CONTARINS VARTIJUS COMMON STORARGE LOCHTIGONS
g:g *USED IN THE PROGRAM.
S5C gCl1og .=1100
BSi 0011080 SCMTAG: STRART OF COMMON TAGS
8s2 00113C 00000C §PASS: .WORD O CONTRINS PRSS COUNT
853 J01132 00C $ISTNM: .BYTE O ..LONTRINS THE TEST NUMBER
2€y 001103 000 SERFLG: .BYTE 0O ..CONTRINS ERROR FLAG
8SS 001104 060000 S$ICN1: .WORD QO -CONTRINS SUBTEST ITERATION CCUNT
856 001106 00C030 SLPADR: .WORD O ..CONTRINS SCOPE LOOP ADDRESS
957 QCi112 000002 ${PERR: .WORD O CONTAINS SCOPE RETURN FOR ERRORS
9S8 0Clile 0000CC SERTTL: .WORD O CONTRINS TOTAL ERRORS DETECTELC
859 Q011N 000 SITEMB: .BYTE O ..CONTRINS ITEM CONTROL BYTE
360 0J0I1!IS 001 SERMAX: .BYTE | :CONTAINS MRX. ERRORS PER TEST
86! 00.116 00000C SERRPC: .WGRD O ..CONTQINS PC OF LARSY ERROR INSTRUCTI N
862 001120 0002aC $GDADR: .WORD O : s CONTRINS RDDRESS OF ‘GOOD" DATH
863 0Cll22 90000C $BDADR: .WORD 0 : s CONTRINS RDDRESS OF 'BRD’ CRTR
864 0011284 000000 $GODRT: .WORD O ..CONTRINS *GO0D* DATA
865 00ll26 (00000C $BDODAT: .WORD O :CONTRINS ’BRD* DATA
366 9C1130 000000 WORD O ..RESERVED--NOT TO0 BE USED
867 001132 0C000C WORD O
268 20I1IN 000 SAUTOB: .BYTE O :AUTOMATIC MODE INDICATOR
369 0301:35 000 $INTAG: .BYTE O ..INTERRUPT MODE INDICARTOR
870 001136 30C00C MWORC O
Tl 001140 177570 SkR: .WORD  DSUR : :RODRESS OF SWITCH REGISTER
872 00llse 17757 CISPLAY: .WORD DDISP : :RDORESS OF DISPLAY REGISTER
873 0011vM 177580 $TKS: 177560 ..TTY KBD STATUS
874 QCllve [77S&2 $TKB: 177562 :TTY KBD BUFFER
87% (0CiiS0 !77Se4 $7PS: 177564 ,.TTY PRINTER STATUS REG. ADDRESS
8§76 201182 ITTSeE $7PB: 177568 +TTY PRINTER BUFFER REG. RDORESS
877 3201154 ol $NULL: .BYTE D CONTRINS NULL CHARACTER FOR FI. LS
378 Q00il8S 00c $FILLS: .BYTE 2 ..CONTRINS 8 OF FILLER CHARACTERS REJL Rf"
~9 201iS& 3.2 $FILLC: .BYTe 12 INSERT FILL CHARS. AFTER A “LINE FEEC™
88C JCIIET 200 $'PFLG: .BYTE @ “TERMINAL AVAILABLE™ FLAG (BIT«07>=0=-t:=
g. 0CI:8J0 000C0oC $REGRD: .WORD O ..CONTRINS THE ADDRESS FROM
852 WHICH (SREGO) WAS OBTRINEC
882 J01.62 Q00002C SREGO: .WORD O ..CONTRINS ( (SREGARD }+0)
gey JClieY 00002C $REG1: .WORD 3 : :CONTRINS ((SREGAD)+2!
g8c 0Clieb 0000CC SREG2 WORD O . :CONTRINS ( (SREGRD)+4)
28t 20.17C 000008 SREG3: .WORC D ..CONTRINS ((SREGRD ) +& J
27 301172 Q0020C SREGH: .WORD O ; CONTRINS ((SREGARD)+10)
gagg 3CIl7% 00000C SREGS: .WORD D ..CONTRINS ((SREGRD)+12°
289 QOCil7e 00CC0C0 SREGE: .WORD 2 : :CONTRINS ((SREGRD)+1%)
83C 00.20C 000000 SREG?7: .KWORC C : ;CONTRINS ((SREGAD)+16)
28, 001202 000CaC $REGIO: .WORD C ; :CONTRINS ((SREGRD)+20)
232 J0i204 (000060 $REGL]: .WORD O : :CONTRINS ((SREGAD)+22i
833 001226 0C0COoC STIMES: O ..HRX NUMBER OF ITERATICNS
294 0Ci210 00900C SESCAPE:D : :ESCAPE ON ERROR RDDRESS
23 CClalz2 i~ $QUES: L.ASCII 7~ OUESYION MARK
23 Jl.gis i $CRLF:  _ARSCIDI 1S CQRRIQGE RETJRN
g3” Cl.2l+ 0aCCiz2 SLF: LASCIZ <le: . . LINE FEED
=298 *fiiii!*ii!iifilii*iilii!!ii*t*&**i’!*i*iiii!iiQf*iifi§i§+§§§¢Q¢
233 ll.2.8 BT ATz lzllze ‘:GE: JRSCIZ 415, j2 INT RLY DIDN'T SET



A'D D
laUc
g .':;f{:‘f. Qp ol BRSIC L2522 TEST 1 MEChil 3CVI0ME.  D6-JUN-TT IN:40 PRGE 18

o TS 13-RAPR-TT 09: 14 cOMMCN TRGS

320 20334 QMgige 020131  J4MSCH
3C. 221232 CMTIM  DS2047 OS1WMS
322 JT.24C 262188 a0c

3 201244 .EVEN

AL

3C¢€ :RK1] REGISTERS

306 :1F FOR ANY RERSON THE REGISTER RUDRESSES ARE DIFFERENT FROM TeES:
- +(GIVEN BE%OH) THE CONTENTS OF THE APPROPRIATE POINTERS SHCLULL 2E
g;g .MODIFIED SO THAT THE CORRECT ADDRESS 15 USED.

3.0 .EVEN

311 00la2dy 177400 RKDS: 177400

312 001246 177402 RKER: 177402

913 00.250 177404 RkCS: 177404
914 001252 177406 RKWC: 177406
915 001284 177410 RKBA: 177410

916 00156 177412 RKDR: 177412

917 00.260 177416 RKDE: 1774186
i

gg? : TRGS AND GENERAL DRTR AREA

[P H
aag :

ggﬂ QC1262 00020C FTITLE: O :FLAG FOR PRINTING PROGRAM TITLE
926 001264 0C2200 TIMER: O :TIMER REGISTER

326 00126¢ 00020C RKPRI: 200 :CONTRINS THE CPU LEVEL AT WHICH

: ;RK11 NORMALLY INTERRUPTS. THIS WORD

328 :SHOULD BE CHANGED IF RK1! IS DESINGRTEC
925 :A BR LEVEL OTHER THAN S. E.G. IF IT IS CHeNGED
330 <70 6, THIS WORD SHMOULD BE CHANGELD TO 24C.

gC1272 CC22:C ReVEC: 220 :CONTAINS THE NORMAL VECTOR RDDRESS TQ WH. r
:RKI1! INTERRUPTS. IF THIS IS NCT S0, CHANGE
' THIS WORD O CONTAIN MIDIFIED vEZTOR ATIEE::.

JShdhoJD
m;\ow
ft)e—-
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L CIReZ-E, Se Ll 5RSII L2520 TEST ! MACYIL 30,1046, O6-JUN-TT  I4:8C PAGE 20
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3-.882=%"38T g ERRIR PJINTEG "ABLE
_SBTTL ERROR POINTER TRELE
. «THIS TABLE CONTAINS THE INFORMATICN FOR ERCHM ERROR THRT ZaN S.__F.

:#THE INFORMATION IS OBTARINEC BY USING THE INDEX NUMBER FOUNG T4
t#_OCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE I3

:tNCTEl: IF $ITEMB IS D THE ONLY PERTINENT DWRTR IS ‘SEFRE. .
:eNCTE2: ERCH ITEM IN THE TRBLE CONTRINS 4 POINTERS E»P_minEl &t ¢
P * EM ..PCINTS T0 THE ERROR MESSAGE
® DH ::POINTS "0 THE DRTR MERDER
¢ D7 PO NTS T0 THE DRTH
 # OF ..POIN T5 THE DATA FCRMAR™

AOPY- I $ERKTS:

-ttt & G

r

:THE ERROR ITEMS TRBLE CONSISTS OF ALL THE POSSIBLE ERROR MESSAGES
JSED IN THIS PROGRAM. AN ERROR CAL. IN THE PROGRAM yORRESrON“S g
“HE ITEM NUMBER IN THE ERROR TARBLE, THUS 'ERROR “HE

PROGRRH CORRESPONDS TO *I1TeM 1' IN THE ERROR TARBLE.
"EMeas” 1S THE POINTER TO THE ERROR MESSAGE WHICH WILL BE “YPEC
OUT IN CASE THRT ERROR WERE TO OCCUR. THUS FOR "ERRCR 1° TrE ERRCR

HESSQGE TYPE QUT WI "TIME N RK}l RE
"OHsss’ IS THE POIN»Engo HgHDES BLO*K HH?LH WILL BE TYPEC O.7
IHFEDIQTELY AFTER THE ERROR HESSQGE

"OTses’  SERVES 45 A POINTER TQ THE MEMORY LCCATIONS WHERE _

: THE INFORHQIION RELEVANT TO THE ERROR TYPE QU™S (LIKE PC, JINTENTS
:OF RKCS ETC.) WILL BE PICKED UP FROM.

: THE LQST ROW CONTAINING 'O’ SERVES RS A TERMINATOR.

XAMPLE :
%F ON RUNNING THIS PROGRAM A TIMEQUY WERE TO OCCUR CN RDDRESSING SIS

: 1774007, BECAUSE OF SOME FAULT, THE FCLOWING TYPESUT WOULD
:0CCUR ON THE TELETYPE.
TIME SUT ON RK1i REG
PC REG
. ssnuss 177400
“NGTE THAT ssssss WOULD BE THE ARCTUAL PC WHERE "ERROR  1' IS _OCATEC

: THE ERROR HANDLER IS LOCATED AT 'SERRQOR’. THE ERROR CALL IS AN “EM™°
: INSTRUCTION WITH ITS LOWER BYTE ENCODED 10 PROVIDE INDEXING 3 ~wE
;ITEMS IN THE ERROR TRBLE.
: THUS * ERROR 1* 15 164001
: "ERROR 1eg" IS 104126 ETC.

(ERRCR ITEMS TRBLE
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wo-1i-CIRRZ-E, RKil BASIC LOGIC TEST I MACY1. 3001046, 06-'LN-‘” 14:40  PRSE 21
TIGRIELBLL 13-aPR-T 09: 1N ERROR POINTER TABLE
390 JITEM 1
393 031272 9103% EM1 'IHE OUT ON RK!! FEG
933 LSru 81: 4% OM1 REG
94 721876 Di197E Tl ssnapc SREGC
396 36:300 000030 e
996
3&; ;ITEM e
998 f 010370 £M2 nscxs*en NOT C.EARED
.39 R 1566 OH2 'pC REGADD RECYC
300 001 C1:504 DT2 :SERRPC SREGOD  SREG!
1332 o141 000000 0
1063
008 ITE™ 3
s,
zgg; gg131a N10415 £M3 :RKCS ERROR
: 1318 517643 OH3 :pC WROTE  READ
1308 OCi3le Q1504 DT2 '§ERRPC SREGC  SREG!
;ggg AC:320 053000 0
§§§é JITEM M
1A13 001322 SI1OM3C EMY nxcs ERROR-ON Whj:.NG READ ONLY BITS
TR 301324 D115 OHY EXPCT  RECVC
i3's 901326 011504 BTz ssnnp' SREG™  SREG!
;;;g 031330 00000C 0
e
;Eig :ITE" €
‘620 001332 010475 EMS sus INIT DID NOT CLEAR RKCS
152l 0Ci3™ O0lle™d OHS RECVD
1022 00i33% ClINTE ATl sennpc SREGO
1023 001340 Dooooe 0
1324
i ITEM B
1027 701342 0.0531 EME .*CNTRL RESET® DIDN'T C.EAR RK3S. ON SETING 62
‘028 001344 011670 SHE :p¢ RE ZVD
‘029 901M6 D1l476 0Tl :$ERRPC SREGO
;ggg 001350 90000C 3
38%% ITEM 7
03 001352 5i0607 EM? .*ZNTRL RDY' DIDN'T SET AFTER CONTRCL RESE™
103 001364 Ql2ze. OW30  :PC RKSS  RKER  RKDS
3 8813 011534 8T26  .SERRPC SREGO SREGI  SRES2
:53? 001 NOOCEC G
338
1323 CITEM 10
i241 201382 D106SE £M1C  REGISTER HOT CLEARED
vz D013€4 Dilsée SHe REGADD RECVD
134 Dizee DiiECd gre szpapc $REGO  $REaI

- -
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M- oI IRE - i b BESI ~yqi: TEST -JUN-T 4O PaLE 22
Sagpezoafhi-E. BRIACBASIN~yac TEST PRAJA pEYNIERC agl

1246 JITEM 1

1247

104 137 M KWC ERRQR
1825 §§1§7u éHii B 8 READ

1378 T : SERRPC snzco $REC!

1061 COI400 0

1062
;osa “ITEM 12
Eagz 88 M43 sNEXPECTEE RK!1 ZNTERRUPT
s Hel
057 1405 D121 : SERRPC
1268 001419 0
1089
}96(13 ITEM 13
1§§§ 1412 MI2  ;RKBA ERROR
: 414 H11 :PC WROT  READ
1064 DQI41B DT2 SERRPC SREGC  SREG!
1065 001420 c
1066
}ggg <ITEM 1M
{969 001422 01073 EMIY CNTRL RESET DID NOT CLEAR REGISTER
:070 DOI424 DI1Se6 DM REGRDD RELVE
{271 00i+426 0.150d 073 ssnnpc SREGOD  SREG!
1072 00:!43C 00000C 0
1073
1074 <ITEM 15
1075
1076 001432 010773 E :RKDA ERROR
1977 00I434 011706 OMLi . PC WROTE  REARD
1078 001436 011504 0 :SERRPC SREGOD  SREG!
1079 001440 000CCC 0
1080
;8gé -ITEM 16
1083 001442 0::32] EM26  :RKCS ALTERERED ON CLEARING °REG-BYTE'
c084 OCI+44 012107 DH3E  :PC REG-BYTE (RKCS)EXP (RKCSIRECVD
108S 001+46 0.i534 DT  :SERRP{ SREGO SREGl SREG2
;g.gg 0014SC 000000 0
i%g SITEM 17
1390 001452 Gl100e EMI7 aus INIT DIDN'T CLEAR REGISTER
1091 301484 011666 DH2 REGAOD RECVD
1092 001486 011504 DT SERRPC SREGD  SREGI
1093 00!460 000000 C
1094
ig% (ITEM 20
1097 101462 011042 EM20  ;RODRESSING ERRCR-TRIED TG ADDRESS FEGl. GOT RESE
::gg 0OI4€EY 01174G “He8  :FC REGl  REG2  (REGI) (REg2)
2399 ac;:gg gag;;q Drao :$ERRPC SREGD  SREG! SRECS  SRELS

oV o '-....-C

i
3
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DRI - =4S 1 - ic TEST 1 6 0&-JUN-77 14:40 PRGE 23
g eeCaf €L BrAABASINLYQIC TEST 1 BRCIAL A0\ 4084 alk
5%85 ITEM 21
ixgg 147 311325 EM2?  :TRIED TO CLEAR °*REG-BYTE', CHANGED 'REG-BYT2’
11 1479 012161 o?gg ;:Ennpc gsgagvvx gg&aavta 2;255‘*"7 25{25”‘57:
' ¥ 4 H i
HE BRITH RAAMG B ‘
3§§§ ITEM 22
§§11 001502 011123 Enz2 ;gxo NOT CLEAR RKCS LO BYTE
xiii ﬂgig@g ﬂéggég gva karpc BREXD  SREXY
11148
1118
iifg JIEM 23
1116 ooxsxs 011156 EM23  :DID NOT CLERR RKCS HI BYTE
tsd BBteld Biikda ¥ ifkreec CRERD  SREXY
1121 001520 000000 0
1122
iiaa -ITEM 24
M4  :TRIED TO CLEAR RKCS 'BYTE’, CHANGED °'RESIS!
B miss phia [B)  JRIED TRGLEAR RUCS BVIE:, CHANGED PEGIS:
1127 001526 01154 DT20  :SERRPC SREGO SREG] SREGZ  SREG2
%;gg 001530 000000 8
i%xll -ITEM 25
:iga 001532 011266 EM2S  :FAILED TO CLEAR "REG-BYTE’
1133 0CI534 Ol20sl DH2S  ;PC REG-BYTE RECVD
1134 001536 011504 oTe ‘$ERRPC SREGO  SREG!
113 001540 00000C 0
1136
1137
1138
1139
119¢ 001542 00000S START: RESET .CLERR THE BUS
1141 "SBTTL INITIALIZE THE COMMON TAdS
:145 . TCLERR THE COMMON TAGS (SCMTAG) RREA .
1143 0glcy4 012706 001i00 MOV $SCMTAG.RE .:FIRST LOCATION TO BE C.ERREC
1144 001550 005026 CLR iRE )+ ! 1CLEAR MEMORY LOCATICN
1145 001552 022706 GO1140 CHP #SWR,RE ;;DONE”
14 001586 001374 BNE =6 ::LOOP BACK IF NO
1147 001560 012706 001100 MOV ¥STACK, SP '1SETUP THE STACK POINTER
i*jg 1S4 012737 00S642 000020 ‘:INITxghésg A Figsgggzogfzorvsc 0T VECTOR FOR SCOPE ROUTINE
{154 381§9a 012737 000340 000022 MOV 8340, a8 0TVEC+2 ;EL§VEL EC
11€] 001600 012737 006114 000030 MOV $SERACR . I8EMTVEC © /EMT VECTOR FOR ERROR ROUTINE
;126 poledo Die7s7 D030 DOdDs: MOV N340, SUEMTVECHS §iLEVEL o o o roR TRAP CALLS
1 . . LS
:i&w 881 2 815737 868838 888835 MOV 1340 35?RQPVEC+%;1EVEL 7 -
1188 001532 012;3; 018134 838852 ngv "ﬁé‘“”pS;EERXSC ‘ﬁE?”ER FRILURE VECTOR
4 ] Y ] ] JEC c:LEVEL 7
- 98?-44 85@037 881302 LR s?zntg v ;:.NIE&RLIZE NUMBER OF ITESATIINS
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- "RkJ £, Rk BRSIC LOGIC TECY | MRLY Y ~JUN-77 40 PAGE 24
‘ Pr: § ﬁﬁn-&s 5 "9 IN}TiﬁL? 19 E Lawnan TAGS
1158 001650 005037 001210 CLR $ESCAPE :CLEAR THE ESCAPE ON ERROP ACCRESS
1189 00154 112737 000001 001115 MOVB u1 $ERMAX ‘ALLOW ONE ERROR PER TEST
iiso 88{2?5 815;3; 381235 ggii?g MOV ' $L.PADR xn1$gngzc ;HE L08PPQDDRESECFOP 2 ZPE
11?5 ! ! . :SIZE roS A Hnnouhat EHITCH REGISTE& 505 ﬁguub 89 ?QDIE
11:3 001676 0137 000 SIEQUAL TO R ™ 1; Egg;gp ronpn sorr:cge 3:I£°$E§$°ISTER'
1164 001676 0l 4 MOV ’ Yo
1165 001702 01273 1736 000004 ngv 8648 anEhRVE ..? uE Saon v:gqon
1166 001710 012737 177570 Q01148 MOV 8DSKR, SWR SETUP €OR A HARDWARE SWICH REGIS™
1167 001716 012737 177570 001142 MOV s0DISP DISPLAY ::AND A HARDWARE DISPLAY REGISTER
1168 001724 022777 177777 177206 CMP ¢-1, 3SHR ' TRY TO REFERENCE HAROMARE SWR
1169 001732 001012 BNE 668’ ,.aanncw If NO TIMEOUT TRAP OCCURREC
1170 {iAND THE HARDWARE SWR IS NOT = -!
1171 001734 000403 BR 6S$ :BRANCH IF NO TIMEOUT
1172 00173 012716 001744 B4S: MOV 8658, (SP) :1SET UP FOR TRAP RETURN
1173 001742 000002 RTI
1179 00179 012737 000176 DO1140 6SS: MOV 8SWREG, SWR : :POINT TO SOF TWARE SWR
1178 001752 012737 000174 001142 MOV -oxspntc DISPLAY
ii;; 001760 012537 000004 663: MOV (SP)+,38ERRVEC ;:RESTORE ERROR VECTOF
1178 001764 023737 000042 000046 CMP 842, 846 :ARE WE IN ACTL! AUTOMARTIC MOCE’
1179 001772 00IMIe BEQ 63§ “IF YES, SKIP TITLE
118G .SBTTL TYPE PROGRAM NAME
1181 . TYPE THE NAME OF THE PROGRAM xr FIRST PRSS
(182 001774 00S227 177777 INC -1 FIRST TIME”
1183 002000 001043 BNE e?s BRQNCH IF NO
1184 0C2002 104401 00204C YPE TYPE ASCIZ STRING
1185 SBTTL T VAL EOR SOFTWARE satrcn REGISTER )
1186 002006 005737 000042 15T FIoE) ARE WE RUNNING UNDER XXOF AoT”
1187 002012 001006 BNE AT : :BRANCH IF YES
1188 002014 023727 001140 0QOCITE CMP SWR, $SWREG ..sorrunne SNITCH REG SELECTEC®
1189 002022 001005 BNE 208 : 1BRANCH IF N
1190 002024 104408 GTSWR LiGET sorr-:un SETTINGS
1191 002026 000403 BR 708
1192 002030 112737 00OOCI 001134 698%: MOVB  #],$AUTOB . :SET AUTO-MODE INDICATOR
1193 002036 708:
1194 002036 000424 BR &7 :GET OVER THE ASCIZ
1195 ..68S: _RASCIZ <CRLF>/RK11 LOGIA'TEST 1,¢15>¢12> /MAINDEC-11-DZRKI-E IF.F
Li% 002110 673:
i§gg 002110 012737 002126 000004 STARTL: MOV $BADTNO, a4 '§§ 5$5°UT VECTOR FOR UNEXPECT
1200 00211 Q12777 002212 177144 MOV $BADINT, IRKVEL :szr RK}! INTERRUPT V FOR
:535 _ .unexgggr é INTERRUPTS FEBM RKil
I 00zi24 000S1E BR 1571 G0 T TEST |
1203
1204
1295
1206
isgg - THIS ROUTINE HANDLES UNEXPECTED TIME OUTS
209 002ic - 011600 BROTMG: MOV (SP) RGO :SAVE PC WHERE TIME OUT OCCURED
1210 00213) 00S740 ST - (R0} -
iell 002132 022626 CMP (SP)+, (SP}+ RESTORE STACK POINTER
.2i2 002134 10440! 1002142 TYPE 213 s TYPE ASCI- STRING
1213 002.40 00cMi? BR gNg . 1GET OvER THE RSCIZ
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002212
00214
002216
00cz224

002234

002236
002242

002254
002254
002256

002260
002266
002270
002272

002276
002304
002306
002310

002312

002316
002316
002322

002346
00234t

. Rl BRSIC (UGl
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010046
104402
00000C
0ocL3”

011600
005740
032777
001015
104401
001213
104401
011443

104401
0oo4CH

010046
10440¢2

03277

001403
022626
000177

32777
001401

000002
000000

000137

104401
000411

00S003

(AU

00154

0200CC

002244

001002

176610
040000

001542

002324

TES™ |

ITET 1Y

176652

176634

MRCYil 3211946

MO&

06-JUN-77

14:40 PAGE 25

GET VALUE FOR SOFTWARE SWITCH REGISTER
<15 ¢12> /UNEXPECTED TIME OUT RT PL=/

: :6ES:
£33

MOV

TYPQC

HALT
P

.RSCIC

RO, -\SP;

S8START

;SET UP FOR TYPING 2UT PC
;GO TYPE OUT OCTARL PC

:THIS ROUTINE HANDLES UNEXPECTED INTERRUPTS FROM RKl.
;SW 9 AND 10 FOR_LOOPING ON ERROR

:AND LOOPING ON TEST IN WHICH TIMEOUT

: OCCURRED, RRE PROVIDED.

MOV
157
BITe
BNE
TYPE

BADINT:

SCRLF

TYPE
EMY3

TYPE

i
MOV

TYPOC

BIT
BEG
CMP
JMP

BIT
BEQ
RT1I
HALT

2%:

3%:

JMP

BR
.RSCI2

(SP)SRG

-(RO
820000, JSWR
1%

658
&4s
/ RT PC=/

RO, -(SP)

gxooo.asun

$
(SP)+ (SP}+
38LPROR

$400p0, dSkR
38

JUSTART

:RESTART AFTER PCWER FAIL

: THE PROGRAM WOULD RESTART HERE

PFSTRT:
TYPE

- . bEY:
£4s:
CLR

65%

RO

;SAVE PC WHERE INTERRUPT OCCUREC

: INHIBIT ERROR TYPEQUT?
:YES, DON'T TYPE OUT

: TYPE 'UNEXPEXTED RK1l INTERRLFT
' TYPE * AT PC="

: 1 TYPE ASCIZ STRING

. ;GET OVER THE ASCIZ

;SET_UP FOR TYPING OUT PC
:GO_TYPE OCTAL PC WHERE BAC

: INTERUPT_OCCURED

:LOOP_ON ERROR”

;NO, BRANCH

:YES, REPOSITION STACK

;G0 Y0 THE STARTING ADDRESS OF .
'THE TEST THAT GAVE UNEXPECTED INTERR.F
;LOOP_ON TEST?

:NO, BRANCH )
;YES, LOOP. GO BACK WHER U INTERRUPTED FRI™.
;UNEXPECTED INTERRUPT GCCURED RS

: INDICATED IN THE TYPE OUT.U CAM LOCP
;ON_ERROR, TEST,OR_INHIBIT TYPEQUT BY
:SETTING APPROPRIATE SWITCHES.
;GO BACK TO THE START OF THE

; PROGRAM. THUS PRESSING CONTINUE
'AFTER THE ABOVE WALT WILL
:RESTART THE PROGRAM

IF POWER CRME BACK RFTER R FALIURE.

:; TYPE RSCIZ STRING
:;GET OVER THE RSCIZ

BR 4§
JASCIZ <157¢12>/PWR UP,RESTART~
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ocRKJE.PLL

1270

H

1274
1275
1276

(1
5%
1279
128C
1eB8l
1282
1283
1284
1285
1286
1287
1288
1289
1290
129!
1292
1293
1294
1295
1296
1297
1298
1299
1300
130!

St B Bt Bt Bt Be Bt e b e e
L lu o W W WLV LW

Ty N e e e el o
oOowoo NN L Wn—-0O

1321

002350

e

002360

002362
002364
002366

002374
002402
202406
002412

002414
002416
002420
002426
002430
002432
002436

002460
002480
002464
002464
002466
002470
002474

0C2476
002500
002502

002504
002506
002510
002514
002520

0000C4
005002
012737

012737
012700
012701
005731

005200
001375
012737
005702
001415
104401
000410

000137

goo407
02262k
014137
104001

005721
00S202
000744

000004
000005
012700
012701
023711

gcedle

002466
177771
00124M

002126

002440

005370

001162

177772
001246
001250

P

oo11l0
000004

000004

GET VALUE FOR SOFTWRRE SWITCH REGISTER

;. CLR sx
13: éﬂ& 1&
INCB RO
BNE 18

s ERRARER R AR RN RN R R AR AR AL AR
ATEST | TEST THRT ALL RK1l REGISTERS CAN BE REFERENCED

; #THIS TEST CH%%KS %F ?V%RY RK11 R?EIST;R CAN BE
; *REFERENCED WITHOUT TIMING OUT. A TIME OUT OCCURS THE ERRCR IS
; #REPORTED 8 AN ERROR FLAG (R2) IS INCREMENTED. IT THERE WRS

:#AN ERROR DURING THIS TEST, THE ENTIRE PROGRAM IS ARBORTED
R RO R R R RS

t&11:  scoPe
CLR R
MOV AT1,SLPERR :SET RETURN ADRES FOR LUP
:ON_EROR (SW9)
MOV ATIMOUT, 3n4 :SET UP ADDRESS FOR TIMEOUT VECTOR
MOV -7 RO ;INITIRLI%E RO TO KEEP TRACK -F REGIS REFERENCED
MOV sRKDS, R1 'INITIALIZE R1 WITH RKDS ADDRESS
Tl: TST BRI+ ' REFERENCE THE REGISTER

:TF IT CAN'T BE, TIMEOUt TRAP WILL OCCUR
'SHIFT THE POINYER
INC RO :ALL REGISTERS REFERENCED?

BNE Ti ' IF NOT, LOOP BACK & REFERENCE NEXT REGISTER
MOV $BADTMO, 24
15T R2 +WAS THERE AN ERROR?
BEQ 1§ : NG, BRANCH
TYPE 65 : s TYPE ASCIZ STRING
BR 4§ ::GET OVER THE ASCIZ
éégss: JASCIZ <15>¢12>/PROG ABORTED/
s IMP $GETYR :IF YES, ABORT THIS ENTIRE TEST
BR 1872 s EXIT
TIMOUT: CMP (SP)+, (SP)+
MOV -(R1),$REGD :GET ADDRESS OF REGISTER THAT TIMED OUT
ERROR | : TIMED OUT WHEN REFERENCING RK11l
: REGISTERS
157 (R1)+ REPOSITION POINTER TO THE NEXT REGISTER ADDRESS
INC R2 :SET FLAG INDICATING ERROR
BR Ti+2 : BRANCH BACK & REFERENCE THE NXT REGISTER

;-**i**!*********l***i**!************i**!!*ii*i**!****i*i*i*!i*!i
:§TEST 2 CHECK RK11 INITIALIZATION
: ¥THIS TEST CHECKS THAT THE CONTROLLER LOGIC IS INITIALIZEC
: ¥CORRECTLY, RKWC, RKDA, RKDA, RKDB SHOULD BE CLEAR AND

' RKCS SHOUCD HAVE 'CNTRL ROY' BIT SET.
-'***iiii!i*il!!*!*i*!***!*!*****i!*******i*i*!!**li***i!ii*iii*i

Y612:  SCOPE
RESET . JSSUE A BUS INIT
MOV %-6,R0 'SET COUNT FOR & REIISTERS
MOV $RKER, R1 : INITIALIZE ADRES

18: CHP RKCS, 3R] :15 IT RKCS®
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CoRRJI~E, Reli BRSIC LOGIC TES™ 1 MACYI! 3C.1046) O6-JUN-77 14:40 PRGE 27
Pl 19-RAPR-77 09: 14 T2 CHECK Rk1] INITIALIZATION

002524 0C100S BN 2% :NO
002S2e Q22771 00C200 000JCC NP 8200,3(Ri. 'ONLY BIT 7 OF RKCS SHOULD BE SE™!
002534 001004 BNE 3§ 'BRANCH IF ERROR
002536 000411 BR 3 ,
002540 005771 00000C 28 ST 2R ,CHECK THAT REST OF REGISTERS
002544  0CIN406 BEQ S 'BRAACH_IF REGISTER IS CLR
002646 Q0I1!3~ OC1162 3 KV aRI,SREGD !GET ADRES OF REGISTER
002652 0i-i37 00COOC 051164 MOV @(RL),SREG! :GET CONTENTS OF REGISTER
002560 104002 ERROR 2 'RK11 REGISTER WAS FOUND TG B NGT -_EAS
002562 005721 NS : TST (R1)+ ' INCREWNT POINTER TO NXT REG
002564  00529C INN RO !CHKD ALL REGS”
002866 01354 BNE 1S :IF NOT LUP BAK
D RERRRERRRE AR AR R R RN R AR AR AR RN AR AR R R AL RR RN RO RE A S
L¥TEST 3 TEST RKCS FUNCTION BITS - 1,23

. #THIS TEST CHECKS IF THE FUNCTION BIt-1.2,3 IN RKCS CAN BE WRITTE
*wREAD BACK. RO CONTAINS THE BIT THAT WAS WRITTEN. Rl CONTAING °

; #BI7S THAT WAS/KERE READ BACK.
R R AR ER B AR AR AR SRR R R R R R R RN R R ARSI RR R RRR R ARSI ARS8

002570 0C2OCH t673.  scere

002572 012737 002604 0OCL:iO MOV 818, SLPERR ;Esgossygan?oass FOR LOPING ON

002600 012700 000002 MOV £2,R0 SINITIACIZE BIT 10 BE WRITTEN IN RK2S
002608 016077 176440 18: MOV RO, JRKCS 'WRITE THAT BIT IN RKCS

002610 017701 17643% MOV 3RKCS, R :GET 1KCS

N02614 042701 005200 BIC 3200, R1 :MASK LuT CNTRL ROY BIT

002620 020001 CHP RO.R] WAS RECVD BIT SAME AS WRITTEN BI”
002622 001406 BEG 2§ :YES, BRANCH OTHERWISE REPORT ERRCR
002624 010037 001162 MOV RO, SREGQ 'GET EXPCTD RKCS, BIT THAT WAS WRITTEN
002630 017737 176514 O0OCI164 MOV JRKCS. SREGI :GET RECVD RKCS, BIT READ

002636 104003 ERROR 3 :BIT THAT WAS WRITTEN WAS NOT REAC BRlx
002640 (006300 2%: asL RO "SHIFT TO WRITE NEXT BIT

002642 020027 000020 CMP RO, 820 ‘HAVE U CHKD ALL 3 BITS I, 2, 3

002S4E 0Ci35: BNE 18 1F NOT, LOOP BACK 3 CHECK TH4E Nx~ 31

é-!f{ii}iilli!*!iiilll!ilii!il!illi!!lii!lill!ll*liii!i*ililif!i!
:4TEST 4 TEST RKCS EXTENDED MEMORY BITS - 4,5
. #THIS TEST CHECKS IF THE "EXTENDED MEMORY' BITS CAN BE WFIT7EN

; BAND RERD BACK CORRECTLY.
CoRAERREERRRE RN E AR RN R AR RN AR AR R RS R R A2

002650 000004 t&14:  scoPe )

002652 012737 002664 001110 MOV 818, SLPERR ;gﬁrsgggu?gung§ss FOR LUPING

002660 012700 000020 MOV 820, RO 'INITIALIZE BIT 7O BE WRITTEN I RxiS
002664 010077 176360 18: MOV RO, SRKCS :WRITE THAT BIT IN RKCS

002670 017701 176354 MOV aRKCS, R1 :GET RKCS

002674 042701 000200 BIC 8200, R1 ‘MASK OUT CNTRL ROY BIT

002700 02000! CMP RO, R} 'WRS RECVD BIT SAME AS WRITTEN BI”
002702 001406 BEG 2% :YES, BRANCH .

002704 010037 001162 MOV RO, SREGO GET EXPCTD RKCS, BIT THAT WAS WRITTEN
002710 017737 176334 001164 MOV JRKCS, SREGL ‘GET RKCD RECVD, BIT THAT WRS RERL
002716 104003 ERROR 3 :BIT THAT WAS WRITTEN WAS NOT RERD BA.a
20272C 006200 z8: ASL R :SHIFT TO WRITE NEXT BIT

909782 022700 00C10C CMP $170,RD ‘HAVE U CHKD BO'H BI'S, +, & o

clz7gk OGI2ER BNE 1§ :IF NOT, LQOP BRCK & CHECK THE ™7 EI



COs

Do _1-IZRWI-E. QR1! BRSIC LCGIC TEST 1 MACYL! 3001046 06-JUN-77 14:40 PAGE z8
s lElollTI9-APR-TT 2900 T4 TEST RKCS EXTENDED MEMORY BITS - 4.5
.382 ;
<3823 XTI IR TR IR RIS TSRS LIS 2SS LL RS RSILSLIR2S2SL
2299 :#7EST § CHECK RKCS IDE BIT - &
138¢ ;#THIS TEST CHECKS IF I0E BIT CAN BE WRITTEN 8 READ BACK. THE PRUCESSCE
1386 '#STATUS 15 SET AT PRIORITY 7 SO THAT UNWANTED INTERRUP™S GRE _OCKED L.”.
1387 :#THEN IDE BIT IS CLEARED AND PROCESSOR PRIORITY 1S _JWEREC *0 IMG_RE ~wmp”
1388 :¥NO INTERRUPTS OCCUR.
.‘.389 ‘ li{llliillllllllliilillllliili!i!ii!li!fll!iiililliliiifllifilf
1390 002730 00000 &75.  SCOPE
.39 002732 Cl2746 000340 MOV 8340, - (SP!
1392 00273 (0l2746 002744 MOV 8648 - (5P)
1333 002742 000002 RTI
1394 002744 B4S:
13% 005750 gla710 GBGIoD Mov  ai00; R0 SET THE I0E_BIT
135 uuaggg B22710 000300 CMP ssoo 9RO 'WAS IT WRITTEN CORRECT.Y
1398 002760 901406 BEQ . YES, BRANCH OTHERWISE REPOR™ ERR(E
1399 002762 012737 000300 001162 MG aaoo SREGO 'GET EXPCT RKCS
14300 002770 0iI23T COIIeM MY aRa, $REG! 1GET RKCS RECVD
140 0027™9 154003 ERROR 3 :10E BIT WRS WRITTEN, BUT WAS NC™
402 :READ BACK
1433 202TTE 124452 is: INT.RESET .VONTROL RESET, CLEAR IDE
ele iTHIS IS A CALL FOR THE "CNTRL-
142 :RESET' ROUTINE. A CONTROL RES E'
S2E {15 ISSUED AND AFTER A CERTAIN T:
i jor :IF THE "CNTRL ROY' DOES NOT SE”
% :AN ERROR IS REPORTED. NOTE T-A"
P42 i THE PC_IN ERROR MESSAGE 15 THE
1422 PC WHERE 'CNT.RESET® IS LOCATEC.
1411 003000 022713 00020C CHP 8200, JRO :0I0 10 BIT GET CLRD?
.41 003004 001406 BE3 2$ : YES, BRANCH
i“13 003006 010037 001162 MOV RO, SREGO 1GET noa£= OF RKCS
414 003012 011937 0011g9 MOV anb SREG! :GET RKCS
.415 003016 104010 ERROR 1O :10E BIT COULD NOT B CLRC
1416 00302C 00C43C ER 1676 EXIT
14i7 003022 10W4I4 000010 28: DELAY .10 'LAIT FOR AT LEAST 60 LS
418 :ON 11728 12 US FOR 11.45
14i§ 0020268 012777 003076 1Te23M MOV 838, JRKVEL :SEY RK11 INTERUPT VECTOR *C
2420 WHICH RK11 cnn INTERUPT IF TWERE
1421 IS FAULTY LOGIC
2422 063034 013746 001286 MOV RKPRI, -, 5P :LOWER CPU anoaxrv SQ THRT
423 0C3040 0l2746 003946 MOV 248.- 'SP ;RK11 CAN POSSIBLY INTERRUPT ¥
1429 003044 000002 RTI {THER IS MALFUNCTIONINIG 511
142 003046 00C2YC 48: NOP :~uE INTERRJPT WQULD oCCLR
436 000240 NOP
1427 003052 000240 NOP
.428 003084 012746 00532 MOV #34C. - . SP.
2429 003060 012746 00306E MOy 865§, - 5F
.436 003064 000002 R¥]
42 003066 £38:
1432 :PRIORITY
2432 003066 012777 0CE2i2 7RI MOV 8BADINT, Rk vES ssr UP UNEXPCTD INTRUP™ EZ"3R
424 J03T7Y  5O0MC2 gF TS7E X1T
43¢ 30307c 022t 2s: MP (GP,e,.SF + kesrons STACK
.~2E 002100 II4C1E EPRZR 12 :AN UNEXPECTED Rklj z~*ERP'='

= TICCURED PROBRBLY CUE To Fmul™y Jlall
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MO-L. IX® 2-E, Akl BRSIC LOGIC TEST L ;EC\'l 30.1046., J6-JUN-TT 14:40 PAGE >3
i .

IISNCELSLLL9-APR-TT 08 MECK RKCS IDE BIT - &
2439
%39 :
M LI i ARERRE R RN R RN RN R R R R R R RN AR PR PR NSRRGSR RN R RS AR RRP RN NI EIEEES
el :#TEST & CHECK RKCS SSE,EXB,FMT,IBA BITS - 8,9,.3,:l
O ;#THIS TEST CHECKS IF tHE SSE, 'EXB, FMT & IBA'BIYS CaN 26 Wi~ -t
c443 : $AND READ BACK CORRECTLY
Ly s iiiilli!llil!llilllIllll!llii‘l!ll!llllllllil!lllillfiillll!’ifi
.v4€ 003102 J00CCs t81e:  SCOPE
496 003129 01270: 00C43C MOV 8400, R1 (INITIALIZE BIT TO BE WRITTEN [N &2
.44~ 203119 013792 001250 MOV RKCS, R2
=<4 QOC3I1¥ 2l0lle 18: MOV R1,oR2 ‘WRITE THAT BIT IN RK(S
i-45 002116 011230 MOV aR2, 80 :GET RKCS
.95C D03120 042700 1000222 8I¢ 8200, RO :MRSK CNTRL RDY BIT
-5 303ia4 02010C ¢ RILRD ;WS THE REAC BIT SAME AS THE
.85z 'WRITTEN BIT
;=53 003126 001405 BEQ 2% ' YES BRANCH, OTHERWISE REPLR™ ERF.A
484 202130 012137 Q0ilee MOV R1,SRESGO :GET EXPTD RKCS
455 00313 011237 00ll1&4 MC' IR SREG! :GET RECVD RKCS
1958 OC3140 104833 ERROR 3 :BIT THAT WAS WRITTEN .AS IN SREGD
1457 ‘WRS NOT RERD BRCK
1458 003142 0063C: 25: ASL Rl 'SHIFT TO WRITE NEXT BIT
1489 303:49 022781 01300C CMP #10005, Rl ;HAVE U CHECKED ALL BITS 8. 3, iC, ..
137 03isc Coie BNE 1S :1F NOT, LOOP BACK 8 CHECK THE Nv* 81~
b :
-9E2 (AR RRRER AR LR AR RN AR AR R AR AR AR RR R R R E R RS R RSB AR AR AR A RS
e 27EST 7 CHECK READ ONLY BITS OF RKCS )
14ES :#THIS TEST CHECKS THAT TRYING TO SET THE UNUSED BIT OF “RE RESD CN_¢
2468 #8175 DOES NCT SET THEM OR AFFECT ANY OTHER BITS IN RKZS
1457 iiiiliiiii!9!!!*!!!!!!!!ili!il!i!!ltl!lil!lliitiii!ii!iiilili!lil
1468 003152 00000Y §T7:  SCOPE
-463 003:54 013700 020:35C MOV RKCS, RO
479 003:60 2127IC 1702CC MOV 8170200, 3RO :TRY SETTING THE JUNUSEC BIT 8 &2
1472 :ONLY BITS
472 003164 01100: MOV 3RO, R] :GET RKCS
1473 003166 042701 0132300 BIC 81000C,R1 :MASK BIT 12
1474 303172 022701 000200 CMP 8200, R| :15 *RDY' BIT SET? NO JTHER
1475 :BIT SHOWLD BE SET.
147& 003176 001406 BES TST10 : 10K, EX
:477 0€3200 012737 00020C QOClle: MOY 8200, SREGD :8ET EXPCTD RKCS
1478 003206 011037 201164 MOV aRC. $RES! :GET RKCS RECVD
1479 003212 104004 ERROR 4 : TRIED TO SET UNUSED 3 RD ONLY BITS
1480 :OF RKCS
i9E] : SHOULD NOT HAVE RFFECTED ANY BITS
B
L4384 ;'!fl!l!!!!*i!!ili*l!llli!illiiii!!ill!i!i'll!iiii!!iiii*iiitiiti
1485 :4TEST 10 CHECK THAT ‘50°* BIT (0) CAN BE SET i
S48E - #THIS TEST CHECKS THAT THE *GO° BIT CAN BE SET, BY PERFCRMING
1487 ' XCONTROL RESET & SEEING THRT THE EXB & IBA SET PREVIJLSLY
-488 - $WERE CLEARED.
14689 --ti!*!!ili!*ii!iiiililil!!i!!i*fii*iilil!iiiliiiii!i!i!*!ii}:QI*
1490 003214 0COCOY ¥8110: SCOPE
i49] 003216 012746 0C0345 MOV $340,-(5P)
.42 002222 0i274 002220 MOY 8E4S, -(SP.

-3z C(Cz22e OOCCle RT1
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003304
0C3306
Qo33ie
003314

003316
303322

30342t

100411
105711
10C373
0ee71l

0014087
011i37
1C4006

00403
004737
104207

000004
012737
012746
012746
000002

013700

. conC-E, Rl BnSI~ LOGIC 1&5T |
. (3-APR-TT 09: 14

000203

OCliee

008434

000010
000340
003346

001250
0C7576
00020G

001162
001164

000002

003416
177773

000200

1 3001046

06-JUN-277

)
14:40 PRGE 30

CHECK THRT "GO' BIT (0) CAN BE SET

MOV
MOV
CLR
RESET
c

BEQ
MOV
ERROR

B8R
JSR
ERROR

*TEST 1l

:#(GC BIT) ARE AVOIDED

RKCS,R!
87576, 3R1
RO

#200, JR1
18
gax.snaco
#5000, 3R1
aR1

RO
RO

33
aRl

23
#200,dR1
TST11
gRl.SREGO

TST1!
;V,GT3RG

:SET ALL BITS EXCEPT GO

H ke L

YE? BRRNCH OTHERKISE REPORT ERF=

: BUS INIT oxo NOT CLEAR RK(CS
:SET 1BR 8 EXB IN RKCS

:SET GO, CONTROL RESET

:KEEP TIME

¢SVEEU WAITED LONG FOR CNTRL ROY

:IF YES, BRANCH 8 REPORT ERRCK
' WAS CNYRL RDY SET?

:IF NOT LOOP BACK 8 WAIT FOR IT

:1F CNTRL RDY WAS SET, CHK IF "INTRL
RESET’ CLERRED IBR & EXB BITS

é§ ;Egg EXIT. OTHERWISE ERRCR

co BIT COULD NOT BE SET OR FAUL™ IN
:THE *INIT L’ GENERATING LOGIC

EXIT
bo GET RKCS, ER
:CONTROL RERDY 01D NOT SET AFTER
: CONTROL RESET

TRRRBRREREEEEERERREEERRFEENERREREREREREREEEEERERREEEFHERAELELEES

CHECK RKCS WITH R COUNT PRTTERN
;#THIS TEST CHECKS THAT RKCS CAN BE CLERRED FROM 7576 THEN n _CuUNT
s #PATTERN FROM 2 TO 7777 15 RUN. NOTE: ALL PATTERNS WITH BIT Q SET

SO THAT RK11 MAY NOT START AN UNDESIRED CPERSTIOM

:¥R1 CONTARINS THE COUNT PATTERN THAT WAS WRITTEN

SCOPE
MOV
MOV
MOV
RTI

MOV
MoV
CLR
CMP
BEQ
MOV
MOV
ERRCR
MOV
MOV
MOV
MOV
MOV
BIS
MOV

10, STIMES
2344, -(SP)
b4S . - (SP)

RKCS, RG
57576 3RO
sgno , &R0

RO, SREGD
anb SREG!

..-

nat sgpsnp

RI'R2
8200, R2
IR0, R3

!!!!lli**iiill*l*l!*!ii*!i**l*!il!**l!!!li*ll!*l*l!*}i*!i{lilii
;00 10 ITERATIONS

:SET ALL BITS IN RkCS EXCEPT GO
:CLERR_RKCS

WAS IT CLERRED

; YES, BRANCH

GET RDRE& OF RKCS

GET RKCS
Rkts COULD NOT BE CLEAREC
:WRITE THIS BIT IN RK(S

(WRITE IT
:GET BIT THAT WAS WRITTEN
:SET CNTRL ROY BI”
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-11-C2RRJ-E, RK1! BASIC LOGIC TEST I MARCYLL 3011046) 0B-JUN-77 14:40 PRGE 3!
IRkJE.P!. 13-3PR-77 09:14 Tl CHECK RKCS WITH A COUNT PRTTERN

1550 003430 gaoau; CMP R2,R3 :WAS THAT BIT WRITTEN CORRECT.1”

1881 003432 00140 BEG 3§ :YES, BRANCH

2 pee g I

aD ’ (*) H

1884 833334 164303 ERROR 3 ;o?o NO REEB an THE 81T THAT

1885 'WAS WRITTEN

1566 DO3446 005205 INC RS

1S57 003450 001405 BEQ 15712 EXIT

:658 003452 062701 300002 33: ADD 12 R} :SENERATE N T PATTERN TO BE WRITTEN

1689 DO34Se 022701 010030 CMP #10000,R! :ALL PRTTERNS WRITTEN?

;;Eg 003462 001355 BNE 2$ :IF NOT, LUP BAK & CHK NXT PATTERN

Fe-1-79 .

1552 : ;llii!ililliilii!ii{»ilil*!iiiii*il!liiliill!iilliilllilﬂrliﬁ'!fl

1863 :3TEST 12 CHECK THAT RKWC BIT 0-15 CAN BE SET

1564 "¥THIS TEST FLOATS A '1' THROUGH RKWC BIT 0-15 AND CHECKS ™W&™ o~
185 "%CAN BE READ BACK CORRECTLY. RO CONTAINS THE WORD THAT 15 wRI™c"
1:66 > . ii!l*!i*ii!*l!!lil!llll{li!il«l!i*!I*iilliill!!iil!i!li!lif!llii

1567 0034&4 000CCH Y&r12: SCCPE .
1668 0C2466 012700 00000] MOV 81RO :INITIALIZE RO FOR THE BIT T3 BE WRI™7E“ % 5u.l
{569 0072 Q13701 G2I2se MOV RKUC,R1

IS0 003476 012737 CO3504 001110 MGV 813, $LPERR :SET UP RETURN ADRES FOR

1871 :LUPING ON ERROR (Sk 9)

ST 003504 010011 13: MOV RO, 3R] ‘WRITE THAT BIT IN RKWC

573 003506 011102 MOV 3R}, R2

‘€74 003510 020002 CMP RO, A2 :WAS IT WRITTEN CORRECTL'

1575 003512 D0I40S BEQ z$ :YES, BRANCH. OTHERWISE, ERROFR

1576 003514 01003 001162 MCV RG, SREGD :GET EXPCTD RKMC BIT THAT WAS JFI"=n
.577 003520 010237 CClied MOV R2.SREG] :GET RKWC (THAT WRS RERC BRCK .

.579 003524 104C1! ERRJR Il :DID NOT READ BRCK THE BIT “HA™

1€7 :WAS WRITTEN IN RKWC

.88C 003526 0Q0E300 23 ASL RO :SHIFT TO WRITE THE NXT BI7

;881 003832 QCI3s% BNE 18 :1F ALL TME BITS HAVE NCT SEEN

;ggg :DONE, LOOF BACK

LS8+ AR AR FARREERARERREREER AR RERR R R RAAR AR R RN R R AR R PR RRD AR RS

.5ec :RTEST 13 CHECK RKWC WITH A CCUNT PATTERN

1386 - #THIS TEST CHECKS THAT RKWC CAN BE CLEARED, THEN R CJUN Sa7 "It
1587 “#FROM O TO 177777 IS WRITTEN 8 CHECKED IF !~ WAS WRI™TEN _IRGE_~_.
.=8¢ -iif#*i*if!n}#i!ii*l}{t*i;;i;iitiii!i:fiiiifiili};;:nr;:;:;g;¢§’¢

:S8S 003532 000004 *3v.3: SCOPE

:§3C 003534 0i2737 0000i0 201208 MOV 810, STIMES .:D0 10 ITERARTIONS

1531 R 8{3??8 gn;gge ggv RK?%‘RG aR0 SET ALL BITS IN Rk

! 177777 MGY 8177277 3RO : Wi

ﬁﬁ R BoEdln (LR aRO : CLEAR RKWC

e g R e

. Q :Y .

.59 003560 010037 001162 MOV RO, SREGC ;GET ABRES D R

(€97 0038eM 011037 00i'ed MOV 2RO, SREG! NG, GET RWMC

;ggg N0IS70 108010 ERROR 10 :RKWC COULD NCT BE S.ERREL

160C DO3CT2 005001 13: CLR R1 - INITIALIZE COUNT BATTERN

:6C. BOIEM 012705 177773 MOV 8-5,.RS

.62 003600 032737 GCC3BOE 3CLIID MOV 928 SLPERR

€2 00360 015110 2s: MGV Ri,dR0 :WRITE THE PATTERN IN "ME RESIZ"ZR

224 CC3eIC 01:002 MOV ard =2

=28 II3Elz lonile “Mp Rl &2 ‘WRS 17 WRIITEN SCRRRECT.:-
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LUS
cals TEST L MmOl 30.1046. 06-JUN-TT 14:40 PHIE 32

- . v mwvidew
B! 19-APR-72739: 14 .3 “MECK RKWC WITH A -OUNT PR gaN
003614 0C!407 BEG ! S 1 ES, BRANCM
0C3s!e 010137 001:62 MOV R1.$REGD : 3ET EXPECTEL WORL
0C3622 213237 D2C1. 54 MoV R2,3REG! :GET WORD THAT WRS RE_/C
003626 10N01: ERRCR 11 'CIC NCT REAC BACK "HE PATTER'e “=n”
'WAS WRITTEN IN"L THE RESIZTES
203630 005205 ING RS
003632 OCI4C2 BEQ STy CEXIT
00363 J0S2Li 2 INC R1 ' {NCREMENT COUNT PATTERY
0C3E36 JC!3E:S BNE 2§ :LUP BAK 8 WRITE NX™ PRTTERN 17 N2°
:DONE WITH ALL
c R R RRE R AR R SRR AR AR R R R R R R R AR A AR AR RN R PR REERSRERR22S
{ETEST 1M CHECK THAT RKBR CAN BE SET
- #THIS TEST FLOATS A '1° THROUGH RKBA BITS 0-15 AND CRECKS =i~
:a;lcr:?gnae RERD BACK CORRECTLY. RO CONTRINS THE WORC THE™ 4eS
iiiliiiiifillliiililliiiilli!!!lii!lili!!!lilllllQlfi!lll!ii!if
0C364C D0O0DON tiv1y.  SCOPE
003642 01270C 0000C1 MOV 81 RO :INITIRLIZE RG FOR BIT TC BE
:WRITTEN IN RKBA
003646 01370: 0C1254 MOV RKBA, Rl
003652 012737 003662 20::10 MOV 818, $LPECR :SET UP RETURN none: FOR
:LUPING ON EROR (SW 12.
003660 010011 18: MOV RO, aR! :WRITE THAT BIT IN nxsq
003662 01:102 MOV FINCE
003664 020002 oNP RO, R2 :WAS IT WRITTEN CORRECTLY”?
003666 00;40% BEQ 2 :YES, BRANCH
003670 010037 QClie2 MOV RO, $REGC :GET EXPCTD RBA (BIT WRIT EN
003674 010237 01184 MOV Q2. SREG! :GET RKBA (BIT RERD BACK
003700 10MC. 3 ERROR 12 :DID NOT READ BACK TME BI™ "=a~
. :WAS WRITTEN IN RKBA
003702 00823CC 23: ASL RO snxr' RO. TO WRITE MNEXT 2817
N03708  JC13ES BNE 13 IF AaLL BYT1S ARE NOT CHKC. Li:
{BACK & WRITE NXT BIT
iiiiii!li!!!iill*lii!lliil!ll!!ll!iiil!liil!!ilillillli!tio*&l—f
IATEST IS CHECK RKBA WITH A COUNT PRTTERN B
- #THIS TEST CHECKS THRT RKBA CAN BE CLEARED, THEN IT QLNS & 1. N
' ¥PGTTERN FROM C T0 177777. RI CONTAINS THE COUNT DHY'ERN “:TEE LT
s iil!!ii!l!i!!lliili!ill{l!liiilf!liilﬂl!liii!!liiiiiiiiii!iiifi;
002726 000004 $8715:  SCOPE
003710 012737 £O0C1D 32:206 MOV 810 srxnes .00 10 ITERRTIONS
003716 013700 GCletd MOV RKBA, R )
003722 Q1271C 177°°7 MCV 8177 ?r aRG :SET ALL BITS IN RK3A
003726 008012 CLR 3R :CLERR RKBR
003730 00€71C TST &R0 (WRS IT CLEQRLD’
003732 001405 ) BES 18 :YES, BRANC
003734 010037 001LEZ MOV RO, SREGC GET ADRES or RKBR
003740 011937 JCi:&d Mov  JRO.SREG! SET RKBA -
003744 104010 ERRGR 10 RKQQ COULD NOT BE CLEARED
03746 00S00! A .8 LR Ri :INITIRLIZE COUNT PRTTERN
A637S0 DI270S 177773 MOV $-5,RS
003784 Q12737 0C2TeZ OCilil MOV -es §LPERF
22ee Ciliiz 3 v RI,aR0 -WRITE THE PATTERN IN TwE

iREGISTER
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(1Y)

ep ch 2P cpth sh rpap PP osp

b 0

3 3NN INNNICINY N T M I I e g

BIRRTON 18D SRR

ah apap o =p -._..-D

HWNng Wwo— 0w

9 sp sy ap P 2papapaped abaPp ap chab oh b =p

Has

ey oJBeI-E, S, BRGII CSGIl TEST L Mmiti. 3 1296 26-JN 1w:8C  PuGE 32
xS TR TR 3LABRTRRTAGTYY ks €5 RKBE WiFe & ITONT EATTERN
SC3TeN 2051202 MY JRC R2
ok 027132 CMF R} R2 ‘WAS IT WRIITE™ ZCRRRE.™.
AS3IRE  ACINCT 8E 2 3§ ' YES, BRANCH
™72 D1013T onsLes G, Rl SREGC ' SET EXPECTEL WORC
C3~76 01103 ollle- MO\ R SRES, 'GET WORD THAT WAS REZ/C
C4002 513 ERFOR .23 'DI0 NOT REAC BACK THE ER™7ERN "=n”
'WAS WRITTEN INTS *HE RESIS°ES
384804 05208 INC RS
400e OC!40z BEG 181t . EX1T
04CIS 20627, 35: INC Pl tINCREMENT COUNT PATTERN
264213 371363 aNE 23 {LUP BRK 8 WRITE NX™ PRTTERN 7 no”
:DONE WITH ALL
: ;Qitiiliiiillll!!l’ili!!i'Iiiiillll!lill!l!!i!fi!!if!ifii!«Hﬂl@ifi
:ETEST 1B CHECKk THAT RKDA CAN BE SET
- #THIS TEST FLOATS A '1' THROUGH RKDA ANC CHECKS TMR™ "E AlR1 .=l = a--
" 3WRITTEN 1S READ BACK -ORRECTLY
i. ’*ill*‘l!i*l!ill‘*liililli‘llil’f{l}!liilf‘lii‘liii*il’llfi’liif!f"lf'l'
0o4Ci4  00OCOM §v15:  SCOPE
004016 005077 1rS226 C.R ARKLS . CLEAR RKCS
OC40s2 012700 0000G: MOV 81, RO PINTTIARLIZE RO FOR BIT™ "2 SE WRI™7E% I %22
904026 01370. 001256 MOV RkDA, R
004G32 01273% DONAR] 20111C MOV 018, $LPERR :SET UP RETURN RDRES
:FOR LUPING ON EROF
04040 013011 18: MOV RO, 3R] :MRITE THAT BIT IN RKDA
004042 Q2i1102 MOV okl R2
O0N0MY 020008 CHP RO, R2 -WAS IT WRITTEN CORRECTLY
00404 0OC140S BEQ 2% : YES, BRANCH
004050 Q10537 o0..62 MOV RO. SREGD 'NO. GET EXPCTD RKDR (BIT wRITTEM
004054 010237 00:igw MOV R2.SREG! :GEY RKDA (BIT RERD BACK)
N0<06C 104CIS ERRCR IS :DID NOT READ BACK THE BIT Tra”
_ MRS WRITTEN IN RKDA
004062 QCE3CC 28: RASL RQ :SHIFT RO, TOWRITE NXT BIT
So4066  3f3gS BNE 18 :IF ALL BYTS ARE NOT CHKD, .iC°

:BACK 3 WRITE NXT BIT

S AERESAERRARRRERERAERR AR RE AR R AP RR AR R AR IR R SRR SR

;#TEST 17 CHECK RKDR WITH & COUNT PATTERN
:#THIS TEST CHECKS THAT RKDAR CAN BE CLERRED, THEN A COLNT SQ77ESN
:%FROM O TQ 177777 1S WRITTEN AND CHECKED. R1 ZONTAINS THE I\

;#PATTERN TO BE WRITTEN
e BAERRER AR RN AR AR R AR RERE AR RRRARRRER ISR ERRRREEINIRA 228

00406€  000Q0H ¥6T17:  SCOPE

Q04070 012737 Q000iS 00206 MOV 810, STIMES ::00 10 ITERRTIONS

004076 013700 001256 MOV RKDA,RC .
004102 012710 1°777+ MGV 8177277 . 3RO :SET ALL BITS IN RKDA
504106 005010 CLR aR0 : CLEAR RKDRA

004116 DOS710 75T 3RO 'WAS 1T CLEARED"

004112 001405 ) BEQ 18 ‘YES, BRANCH

BO411N 010037 2JClle2 MOV RO, SRESO :GET RDRES OF RKDR

304120 011037 D0OLi&N MOV aR0. SREG! :30, GET RKDA

n04i24 104010 ERROR 10 :QKDR COULD NOT BE CLEAREC
04126 00S0C! 18: LR Rl - INITIALIZE COUNT PRTTERN
20413C Ql2708 177773 MOy 8-S RS

SC4l3e 318737 Ti<ldE oilin MGV 828, SLPERR



105

o CoRNC-E. RW1L BRSI LoGI1 TEST i MAIell 3001046, 06-JUN-77  14:40 PRGE 3+
TageegntheE. B adoBEatng vy vx o RN A ot "Bar TERE

(TI8 004142 012110 1 ¥ MOV R1,aR0 -dRITE THE PRTTERN IN THE RESIZ7ES
1719 0OCHIN4 011002 MOV Jrb, R2

1=3C 00<ive 020102 CMP R1,42 :WAS IT WRITTEN CORRREZT_v°

272! 004I1SC 001407 BEG x| S ;YE§. BRANCH

122 DOviS2 Q10137 00:l& MOV R1,SREGD :GET EXPECTED WORD

i733 004186 01023 d0:ie+ MO\ R2.SREa] :GET WORD THAT RS RECVE

JT24  00Mlee  lC8O: ERROR 15 ‘DID NOT REAC BACK THE PATTERN “wa~

=3¢ "WRS WRITTEN INTO THE REGISTER

(726 DOM1E4 005205 INC RS

(727 J0MIeE 001402 BEQ 15720 S EXIT

1728 J04!°C 9I05aCl 3%: INC R1 : INCREMENT COUNT PATTERN

1°2§ O041T2 201363 8NE 2% LUP BAK 8 WRITE NXT PATTERN IF N.~

;:3; :DONE WITH ALL

.3c AR RARERR R R RN ESRRRRSARARAERRER SRR RRR R R AR RRRRRRRRERA RS

1~33 ATEST 20 CHECK THAT RKWC.RKBA,RKDA CAN BE CLEARED BY RESET

1°34 . #THIS TEST CHECKS THAT RKWC. RKBA AND RKDA CAN BE CLEAREC Sr S.3 [“I".
i=3€ :#RESET INSTRUCTION IS USED

b cc BARFEREREF BB EFRERBERER R RREE R AR IR R R R RRLER AR P RER AR SRR 2422

1=37 004:7+ D000 *&720: SCOPE

1738 004i76 013705 001252 MOV RKWC , RO -INITIALIZE RO TO PRINT T2 RKWC

.739 004202 0310002 MOV RO,R2 i
(745 004204 012701 177°°S MOV 8-3 R} .SET UP COUNT FOR 3 REGISTERS 2 BE Iwvl
i™41 D0M210 010103 MOV RI,A3

(T 884 12 8657 C 177777 i$: MOV 8177777, .R0.+  :SET ALL BITS IN RKWC

T~43 DON4DIE 201 ING R : RKBA

744 004220 001374 BNE 13 : RKDA

2745 Q04222 J0000S RESET - I1SSJE A BUS INIT )

S 74 nggzw 80571 c§: TET R2" ‘MRS THE REGISTER (PTD TC BY &2. C_EAREC"
Y 4226 DOI40S BE2 3¢ : 7ES. BRANCH

274§ 00423C 010237 201162 MO P2, $RESC - NQ gst ADR sogf ssﬂ EE THAT WAS NC7 C_EASES
799 Quica Oliesr BALIEH MY aRE.SREG! 126t ZONTENTS of THAT AEGISTER

i~g3 Af4S4Q 184817 ERROR 1. 'R&K11 REGISTER (RDRES IN RO) cGJLC

78! :NOT BE CLEARED BY BUS INIT

1732 QCe24z  QosTas 33: 37 (RE)+ : INCREMENT POINTER TQ NXT REGISTER

1783 DO<ow4 Aggac3 INC R3 ‘HAVE U CHKD ALL 3 REGISTERS®

,:gg 20424 0C13BE BNE 23 :IF NOT, LOOP BACK 8 CHK NXT

.Sk SRR AR R R AR E R AR R R AR RRR R AR R R R AR AR SR ARSI R R AR RR AR R RRR R

InEs S§TEST 21 CHECKTHRT RKCS. RKWC, RKBA, RKDA CAN BE CLEARED BY IIN"R._ RESE
.7sg - #RKCS IS SET TG 7250. RRWC., RKBA, RKDA ARE A.L SET

:~E3 2#710 177777, CONTROL RESET IS DONE ANC 1T IS CHEZKEL

i~g2 :#If ALL THESE REGISTERS ARE CLERRED.

iTel e RSB R RS R E R ARG R L IR AR AP R R R AR R AR EAR AR RS R IR AR AR AERRE

.76 004250 00000 t8-21: sScoPe

763 004252 Q12746 00C34C MGV #240,-/5P;

764 004256 012746 004264 MDY 8648, - (SP,

(78S 00M26e 000002 RT]

1766 D0N2EM £4g:

1767 DO4eb4 013700 0Cl25C MOV RKCS, RS .

1768 004270 012710 DOTEED MOV 87560, aRC :SE” ALL WRITABLE BITS IN &S

I7ES 004274 005210 INC arQ :SET GO, CONTROL RESET

1207 PBai0e JoeroR 18 whe Do 0I0 CNTRL ROY SET"

P 4 H - : -

ing 308 1302 BMI 28 "YES, BRANCH

JTN: 0 L4204 00E2as N RS cWRITED LoNG”
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103
JUO
(T3 I-E, BRLLBRGIL LOGIC TEST 1 WRCill 3T 10N - OB-JUN-7" 14:40 PAGE 3S
-8 R- CHECK "HRT RKCS, RkWC, RKBA RKDH CAN BE CLEAREC Bf CONTRC. RESE”

oo:aos 003372 —_ 8NE 13 N :IF NOT ! Eup BAK & WAIT
1
53t 984847 RBoe  EC 9§¥R kB¢=B1BoNor ser
nrrs CNTRL RESET
883353 88?768 000225 23 MP -ioo L 3RO Eg CHTRL RESET CLERR RKLCS
Y EQ LY
o B ™ Bazn o elmn e
/ H
884339 ?qufq ERROR :EENTBSL BQSET DID NCT CLEAR Av>%
004336 013702 001252 35: MOV quc,Re
Oouas giase! yrrrr v 3123777 Rl
PN {1
88«550 Slslgé n8v R1, rne:l .GET ALL BITS IN RKWC
X e i o
LR+
45?& 15q415 CNT.RESET !0, DO CONTROL RESET
‘Trts 1S A CALL FOR THE *CNTR.-
RESET’ ROUTINE R CONTROL RESET IS
DuNE 5 AFTER A CERTAIN TIME If
: "CNTRL RDY' DOES NOT SET AN ERRORF IS
§§pggrsgc Bors rgﬂ¥ THE PC IN ERRSCR
LOVRTED HERis A VEEY an%%c ERRSR 3
SIFIT occuns GO BACK TO TEST 10.
o430 012703 177775 MOV s-3,R3
004364 00S71H4 4§: ST (RY} :WAS THE REGISTER CLERRED?
004366 001405 BEQ 5% :YES, BRANCH
004370 010437 00il&2 MOV R4, SREGCO : GET'ADRES OF REGISTER IN ERROR
0043794 011437 0011gM MOV aRY, SREG! :GET CONTENTS OF THAT REGISTER
004400 104014 ERROR 1N :CONTROL RESET DID NOT CLERR THE
‘REGISTER WHOOSE RORES IS IN R
004402 005724 G§: 157 (R4} + : INCREMENT POINTER TO NXT REGISTER
Q04404 005203 INC R3 :CHKD ALL REGS
oou40e 00136 BNE s :IF NOT, LUP enx 8 CHK THE NXT RES
i!!!i!i!*ll*l!liii!!!iii*!i!i!!!iii!i!l!ilﬂll!iii!!iil!ll*i*«liil
L §TEST 22 CHECK THAT ERCH RK11 REGISTER IS UNIQUELY ADRESSED
¥THIS TEST CHECKS THAT EACH RK11 REGISTER CAN BE UNIQUELY ADORESSEC
'#1) RKCS RKMC, RKBA, RKDR ARE FIRST SET 10 177777 (17576 FCR RKCS:
%2) REGISTER WHOOSE ADORESS IS IN RO IS CLEARED
:¥3) EVERY OTHER REGISTER 1S CHECKED FOR ERRONEOUS CLEARING BECAUSE GF
. ¥ADDRESSING ERROR. IF SO THE MULTIPLE ADRESSING ERROR IS REPGRTEC
iy 323@5?201" RO 1S CHANGED TO THE NEXT REGISTER $ THE PRJCESS 1S
-I
!liilf‘!!iii!i*!ii!il!ii*l*il*ii!!Iiiiiii!iiil*ii!ii{!!ii!li«lit
004410 00060 t4722:  SCOPE
00MM12 01274 000340 MOV 340, -(SP;
004416 012746 004424 MOV ENS, - (SP)
004422 000002 RTI
CO442Y E4S:
OOMM2Y 012705 177771 MOV $-7.RS .SET UP COUNT FOR THE ® OF
‘REGISTERS TO BE UNIGELY ADDRSC
004430 013700 00124+ MOY RKDS, RO :INITIALIZE POINTER TO REGIS Yo BE SE”
O0N434 012701 177774 18: MOV £-4 Rl
304440 013702 001250 MOV rKCS, R2

J0444y 012722 Ci7E7E MO #17E%6, (R2)+  ;SET BITS IN RK(S



Fodo

SahCARI-E. BRAAQBEAIAGLOQIC TEST I QaGY Ll 3R RNy Oe e 11 R ReER Te SnroueL ¢ AoRecsE:

4

! “y ~ Nardrinde 2s: 0 77777 (R, ¢ SET BITS IN

1837 BRudeR BdesgT ! o Ai IN RHHE

iggg 004456 001374 BNE zxon &E

1 vT: CLR ! CLEAR nscxsr R (WHOSE ACOR IS IN &C

i85 8348 B33 oosess S8R R

1836 004466 020002 CMP RQ,R2 ;WAS THE CLEARED REGISTER RKCS?

1837 004470 001406 BEG 3% ' YES

1838 'NG-CHECK IF 1T WAS INROVERTENTLY

1839 00w472 011203 MOV 3R2,R3 : CLEARED BECAUSE OF ADDRESSING

1840 004474 042703 170200 BIC s170200,R3 : ERROR

1841 004500 883703 007576 CMP 87576,R3

1842 004504 001020 BNE 6$ IF SO, REPORT ERROR

1843 Q04506 005722 38: 75T (R2)+ ' INCREMENT POINTER TO NEXT REGISTER

1994 004510 012701 177775 MOV a-a Rl :SET COUNT FOR 3 REGISTERS

184S 004514 020200 43: CMP 2.R0 ' WAS THE CLERRED REGISTER SAME S

1846 THE REGISTER POINTED TO BY R2

5937 004516 001404 BEG 5§ N ‘1 . -

134 SOI VES BY n% ugg { BUEETENg

1359 gLEQRED WHEN chsnnlnc ;He REGI

1825 i PRONCER N2 BXoOR DUE TO

{ 0o452C 011203 MOV JR2,R3 csr CONTENTS OF REGIS BEING CHECKEZ

1654 004522 010304 MOV R3, R4 :FOR I RTENT CLERARING -

1855 004524 00S10M COM RY !CHECK IF ANY BIT WRS ERRCRNESLSLY ._ESGEL

1856 004526 001007 BNE 6% :IF SO, REPORT ERROR

1857 (004530 oogrga 5§: Tﬁ[ énea+ lﬁca N} EERNTO NEXT REGISTER

R g d TR

1861 0045 720 TST (RQ)+ INCREFENT PTR TQ THE NXT REGIS 70 =f I_Za=£C

18 I' 38&285 INC RE AVE ALL THE REGIS BEEN CHEZFEC"

1863 004E¥2 001334 BNE 18 xr NOT, LOOP BACK

1864 0Q4544 000415 BR rgraa Exxr F DONE

1865 004S4e 010037 00ile2 BS: MOV RO, SREGO S OF REGISTER THAT A5

1866 ' TRIED 10 REFERENCE

1867 004552 010237 00116+ MOV R2, SREG1 :GET RDRES OF REGISTER THAT GJ7

1868 rsrsnsncso INSTERD

1869 004SSe 011037 001186 MOV 3R0, SREG2 GET CONTENTS OF REG THAT WAS

1870 "ADORESED & MEANT TO BE CLERRED

1871 004562 010337 001170 MOV R3, $REG3 :GET CONTENTS OF REGISTER THA™ a0T

1372 : CHANGED INSTERD

1873 00NSee 10402C ERROR 20 :POSSIBLE ADRESING ERROR. TRIED

1874 :ADRESING RK!! REGISTER, ANDTHER ONE

1875 :GOT ADRESED. REGIS IN RO WRS THE

1876 :ADRESED ONE, REG IN R2

1877 'WAS THE ONE THAT GOT RORESED INSTERD

1878 DONS70 (022702 001250 CMP RKCS,R2

1879 004574 001744 BEQ K} .RETURN 10 THE

1880 004S7& 0007ty BR 5§ 'RIGHT POINT

iBﬁl "“""“*"““““"*"!*"‘5*s*;’E“SE*;"“E;"‘E‘SEB;E?E:
:4TEST 23 HECK THRT HI 8 Y K N S

138§ - $THIS TE ; CHECKS THAT HE H1 i L0 aw??s E 05 oAN BE

1884 : sADDRESSED CORRECTLY.

:#BI7S IN ALL REGISTERS THAT CAN BE WRITTEN ARE SET. THEN ZAl-

w
R



LOS

MC-11-CRe J-E, 8ki! BARSIC LOGIC TEST | MACYI! 30(1046) 06-JUN-77 14:40 PAGE 37

CIReIEL D, 13-RPR-77 39: 54 123 CHECK THR™ W1 3 LO BYTES OF RKCS CAN BE RDDRESSEL
1886 +#BYTE OF RKCS IS REFERENCED BY 'CLRB’ 8 IT 1S CHECKEL “WA™ SMLY
1887 :#THAT BYTE 8 NO OTHER REGISTER BYTE GETS CLEAREC
lgeg il*lillllilil!!lllllliil!ll!ii!llillli!lllllli!lilillil!ll!fiif
188 460C 000Q0Y4 t8123:  SCOPE
1890 602 012702 177776 MOV e-2,R :SET COUNT FOR 2BYTES-H] & .C
189] 004606 012700 1?5533 nos --3 RO :SET COUNT
R 1
18as DariE Bis7dp 30984 moy .-

1894 004622 000002 RTI
‘2% docsy 7 ' b4s: MOV NITIALIZE PTR. TO RKCS
193? 88:253 8%3?8% ?§§E n8v u7§§6 (R1)+ é } 5 é?vs IN RKCS
}ggg ooqsgw olgrax Vrran 18: ngv ;1777}7 (RI)+  :SET QLL 8ITS IN sxug
I 1.8 u
18 38l B8N AN RK
1301 00M6MM 013701 20125C MOV RKCS R1  INITIALIZE PTR TO nncs LD BYTE
1302 004650 105011 23 CLRB anx :CLER RKCS LO OR HI BYTE
i303 004652 010104 MOV é
1304 0046584 017703 174370 MoV 3 kcs R3 :GET RKCS WORD
1305 004660 022702 177776 CMP -2 R 'R U CHKING HlI OR LO BYTE”
1306 004664 001011 BNE 38 :BRANCH IF W] BYTE
19C7 004666 042703 177600 BIC $177600,83 *MASK HI BYT
1308 0OQ467c D0IM417 BEQ 4§ ‘0K IF LO BYTE WAS CLEARED
1909 O0Q4E7™ 005037 001162 CLR SREGO *GET EXPCTD RKCS.
(310 004700 010337 001164 MOV R23,SREG! "GET RKCS RECVD, LO BYTE
'9i] 004704 104022 ERROR 22 RLL RK11 RsuxsTER S WERE LOADEL WITh
1912 1'S THEN TRIED TO ADRES 8 CLR RKcS
1913 LO BYTE, IT COULD NOT BE CLERRED.
1914 004706 0OOM!! BR 4§
1315 004710 042703 000377 3%: BIC $377,R3 «MASK LO BYTE
1316 004714 0OI406 BEG 4§ :0K IF HI BYTE WAS CLERREC
1917 004716 005037 001162 CLR $REGC :GEY EXPCTD RKCS, MI BYTE
1918 GET WHAT WAS ACYURLLY RECVD
1319 QQ4722 000303 SWAB R3
1926 004724 Gl0337 0C!IeY MOV R3, SREG!
1821 004730 104023 ERROR 23 -ALL RK11 REGISTER'S WERE LOADED WITH
1922 :1'S THEN TRIED TO ADRES 8 CLR RKC
1923 ‘HI BYTE IT COULD NOT BE CLEARED.
1924 004732 012700 177774 4§: MOV #-4.RO :INITIALIZE COUNT FOR REST OF REGIST
1925 (004736 013705 (001250 MOV RKCS, RS : INITIRLIZE POINTER 1O RKCS
1926 004742 00S72% cs§: TS7 (RG1 4+ ;INCREHENT PTR _TO NXT REGIS
1327 004744 005200 INC RO ;ALL _REGS D )
1828 Q04746 001417 BEG &S *IF YES, 60 s noaes 70 CLEAR RKCS HI BY7E
iggg 004750 011502 MOV JRS,R3 ,IFxggT cgr CONTENTS OF THE REGIS
193] 004752 (Q0S103 CoM R3 : COMPLEMENT THE CONTENTS, SHOULD BE
iqag 0047S4 001772 8E g gRronongens T 10 ALL FIT°S

Y a
;33q Snﬁn nor Rebon+ én
{935 004756 010137 0Cl1e2 MOV R1,$REGC GET nxcs evrs-nonss WHICH uns “RIEC
§§§2 004762 010537 001164 MOV RS.SREG] ?Eg ggéss OF REGIS WHMICH GOT ADRESED
1929 DON7e& 012737 177777 (0OL1E MGV 8177777 ,8REG2  :GET EXPCTD CONTENTS OF REGISTER
1940 : THAT GO RORESED i o
194 304774 005102 rOM R :GET CONTENTS RECVD FROM THA™ REIS



T detpitT 1Bt

1942

1443

AEE2%

&

RERRRRRRRRRRBRERRRR

>
QR
O

1971

004776
0Csco2

o4
006
005010

00sciz2

005054
005060
00s062

00S064

005066
005070

00s074
005076
005102
00S104

00S:i40

01033~
104024

000756
00s20!
305202

001316

000004
012746
012746
g000c2

012704
013702
0i2700
013701
gigzel
01272l
005200
001374

108012

010200
042700

011001
032702
001003
042701
0ao40z2
042701
001411
010237

032702
001401
000301
010137
104325

B3ty

[

001170

000340
00S036

177772
001252
177775

001250
007576
177777

000001

000001
177400
000377
0011e2
000001

COlleM

MO

46 77 14:40 PAGE 3

9??&1: esT ?BSYII 38ﬁé8K {Hﬂ?sgfug-LO BYTES OF RKCS gﬂﬂ Bt ROCGRECSSELD

MOV R3,SREG3
24

ERROR ga&*Hﬂf}é.RE&&EEERS WERE LORDEC

;BYTE (RDRES UNDER 'BYTE® IN ER
;MSGE) WRS RDRESED

JUSING 'CLRB’  BUT REGISTER (RDRES
;UNDER 'REGIS’ 1IN

;ER MSG) GOT CHANGED RS R RESULT.

B8R 1
ES: INC Rl ;POSITION PTR TO RKCS HI BYTE
INC R2 ;CHK IF BOTH HI & LO BYTES (RKCS)
yWERE CLERRED
BNE 4 ; [F NOT BRANCH BRCK
DIRRRERREERRREEEERARR RN EER R R R R R R 4 4
(#TEST 24 CHECK THRT HI 8 LO _BYTES OF RKWC BA,DA CAN BE ADDRESSED

. ¥THIS TEST CHECKS THAT BYTE OPERATIONS ON RKWC, RKBA 8 RKDA CAN BE SCME
" #CORRECTLY. FIRST RKWC, RKCS, RKBR, RKDA ARE SET 10 177777.
%) REGISTER BYTE POINYeD T0'BY R2' 1S CLEARED USING ’CLRB’
'$2) IT 15 CHECKED THAT ONLY THAT BYTE AND NO OTHER BYTES GET CLEAREC
!%3) POINTER R2 IS INCREMENTED 7O THE NEXT REGISTER-BYTE 8 THE PRCCESS
'%1S REPERTED. LO BYTE IS DONE FIRST, THEN HI-BYTE 1S DGNME.

.. lliil*ill!ll!l!!llillil!l!i*iii*!lli!!liili!!lll!l!ili!ilili!li

Y&124: SCOPE
MOV #340, - (SP)
MOV 864S. - (SP)

RTI
BE4S:
MOV 8-5,RY :SET UP COUNT FOR & REG-BYTES TC BE ACKESEC
MOV RKWE, R2 : INITIALIZE POINTER TO RKUC
1$: MOV 8-3, R0
MOV RKCS, RI )
MOV 87578, (R1)+ .SET RKCS BITS
2%: MOV 8177777, (RI)+ RKKC
INC RO : RKBA
BNE 28 : RKDR
CLRB  aRr2 ADDRESS 3 CLEAR REGIS BYTE LNDER TES”
MOV R2, R0
BIC 81.RO :CONVERT THE BYTE ADRES INTO WORC
ADRES THAT IT BELONGS TO
MOV 3RO, R! :GET THE ENTIRE REGIS WRC
BIT $]1,R2 :WAS THE CLRD BYTE HI OR LO?
BNE 33 ‘WAS HI, BRANCH
géc :é77400,n1 : MRS LO-MASK HI BYTE
3%: BIC 377 Rl MASK LO BYTE _
4g: BEQ c§ *WAS THE ADDRESSED BYTE CLEARED BR IF VES
MOV RZ, SREGO :GET_ADRES OF REG-BYTE THRT WAS
:TRIED TO B ADRESED 8 CLERRED
BIT sl,R2
BEQ 11$
SWAB Rl ) o
118: MOV R1,SREG!L :GET CONTENTS OF REG-BYTE _
ERROR 25 :TRIED TO ADRES & CLR R REGISTER BYTE



M0-11-DZRRJ-E, RKil BRSIC LOGIC TEST 1
19-APR-77 09: 14

SIRKJE.

1998
1999
2C00
2001

2002
2003

P!

pasi4e

005174
005200
00s204

005206
005210
0Qsele
00s216
005220
00Sa24
005226

005232
005234
005240
00s242

005246
005252

005260
00Seb4
005266
00S270
005274

00S276
00S300
005302
005304
005306
0os3ic

7701

0127Ca0
013701
020102

001433
010105
Q4270S
011503
032701
001003

010237
010137
012737

032701
001401
000303
010337
104021

005201
005290
001340
035202
005204
0012c3

174102
007776

001162

007776
001166

177772
g0i2se

000001
goooce!
177400
000377
001162
001164
000377
000001

001178

021164

001166

MACY11 30(1046)

T24

cs:

6%:

8%:
9%:

12%:

10%:

LSBT .

[1Us

14:40 PRGE 39

06-JUN-77

CHECK THAT HI 8 LO BYTES OF RKWC,BR,DA CAN BE ARDODRESSED

MOV
CMP
BEG
MOV

MOV
MOV
ERROR

MOV
MOV
CMP

BEQ

END OF PASS ROUTINE

JRKCS,RI
%7776,R1

63
R2, SREGO

27776,3REG]

R1,SREG2
16’

$-6,R0O
RKWE  R1
R1.R2

108
R1,RS
81 RS
JRS . R3
1, R1

gg’
177400, R3
9§

$377,R3
108

R2, SREGD
R1,S$REG!L
377, SREG2
#1.R!

12%

R3
R3, SREG3
21

; (ADRES UNDER °'REG-BYTE' IN ER MSGE:, CT..C
NOT CLERR IT.

uns RKCS ERRONEOUSLY CLROD?
'NO, BRANCH

:GEY ADRES OF REG-BYTE THAT WAS

' TRIED TO B RDRESED 8 CLEARED.

‘GET EXPCTD RKCS

:GET RKCS RECVD

ALL RK11 REGISTRS WERE LOADED WITH 1'S

' TRIED TO ADRES & CLR 'REGIS-BYTE' (IN ER MSGE}
'RKCS GOT CHANGED AS A RESULT. *(RKCSIEXP®

' CONTRINS EXPCTD RKCS. ’RKCS (RECVD}® CONTAINS
:RKCS RECVD.

'SET COUNT FOR BYTES

:INITIALIZE PTR TO RKWC

'WAS THE CLEARED BYTE (PTD IC BY R2)

'SAME AS BYTE 10 BE CHKD (PID TO BY R1)?

:1F YES, DO NOT CHK THIS BYTE

; STRIP WORD ADDRESS FROM BYTE RODRS

;1S THE BYTE 70 B CHKD LO OR HI BYTE?
:HI BYTE-BRANCH
:MASK HI BYTE

;MASK LO BYTE

;GET ADRES OF REG-BYTE THAT WAS
: TRIED TO B ADRESED 8 CLEARED
iGET QDRS OF RE’ BYTE THAT GOT
: ADRESED INSTEAD

:GET EXPCTD CONTENTS OF RE&-BYTE
:THAT GOT RORESED

:GET CONTENTS RECVD FOR THAT REG-BYTE
‘ALL RK11 REGISTRS WERE LOADED WITH 1°S.
s TRIED TO ADRES 3 CLR "REG-BYT1' (IN ER MSGE

" 1'REG-BYT2’ GOT CHANGD AS A RESULT.
:'BYT2-EXPCT’ (IN ER MSGE) IS THE EXPCTD CONTENTS

'OF REG-BYT2. ’BYT2-RECVD' IS THE CONTENTS REVVD.
: INCREMENT PTR TO NXT REG BYTE

ALL BYTES caxov

N0, LOOP B o

: INCREMENT PTR TO NXT REG BYTE 70 B JLRC
:ALL BYTES CLRD?

:LOOP BRACK

iy FAXFAFREE AR AR AR R AR LSRRI RF AR LR R AR LR R LR REERR AR RN RRRERERTAILR



2093

04
“aCy.l 30..346.  D6-JUN-77  1H9:40 PRGE <2
E£NC 2F PRSS ROUTI

:#INCREMENT THE PRSS NUMBER (SPASS)

- #INDICRTE END-QF -PROGRAM RFTER | PASSES THRL THE PROGRAM
;4TYPE “END PRSS #XXXXX" (WMERE XXX¥X I3 A CECIMAL NUMBER
-#]F TMERES A MONITOR GO TQ IT

-#]F THERE ISN'T JUMP TO STARTI

ntunoninruruniuvione
B b 2P taPpaPaPpaPpap 2p-n

LiRR RIS

SEOP:
SCOPE
001152 LR $TSTNM .. 2ERO THE TEST NUMBER
301206 CLR STIMES : 1 ZERO THE NUMBER OF ITERA™TONS
301 10¢ INC $PASS ' IINCREMENT THE PASS NUMEES
10000¢ BIC 8100000, 8PRSS  ::DUV'T AL.OW A NEG. NUMBES
DEC (PCl+ L LO0P?
SEOPCT: .WORD 1
BGT SO0AGN ::YES
MOV (PC)+,a(PC:+  ::RESTORE COUNTER
SENDCT: .WORD |
SECPCT
00S4:T TYPE SENDMG .- TYPE “END PASS 8
aC11aC MOV §PASS, - 5P : :GAVE $PRSS FOR TYPECL™
TYPDS ::G0 TYPE--DECIMAL RSCI! WI™™ SI3N
005414 TYPE SENULL ::TYPE A NULL CHARACTER
000042 SGETYZ: MOV a#42 RO : :GET MONITOR RDDRESS
BEQ $D0AGLN : :BRANCH IF NO MONITCR
RESET : CLEAR THE MWORLD
SENDRD: JSR PC, (RO. ::G0 TG MONITOR
NOP : : SAVE ROOM
NOP ::FOR
NOP ::RCTLE
SDOAGN:
e (PC)+ - RETURN
SRTNAD: .WORD START! L
wr SENULL: .BYTE -!.-1.0 . :NLL. CHARACTER STRING
M2312 $ENDMG: .ASCic <18 ¢12 (eEnc smsS’n.
051501
SBTTL GT3RG: ROLTINE FOR GETTING RKCS., RKER, RKZS
. GT3RG o A
: SUBROUTINE FOR TRANSFERRING THE CONTENTS OF 8K{S, RKER, SkCS
70 §REGD, SREGI. SREG2 RESPECTIVELY BEFORE TYPING CUT Ah
:ERRCR MESSAGE .
:Chl: JGR PC.GT3RG
N0S434 017737 173610 00I!&2 GTIRG: MOV SRKCS, SREGD :GET RKCS
00S+42 017737 17300 0OC!1EN MOy JRKER. SREG! :GET RKER
008wes 617737 173670 D0ilee MCV JRKDS . SREG2 :GET RKOS i
S0S48E 0onzh? R¥S PC EXI” FROM "HIS S.BRC.VINE
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CORAC-E. QL BRSIC LOGIC TEST I o mMglIvIl 30 IDNG. 0B-JUN-TT  [M:ND PRGE 4]
... L9-RPR-TT 2G4 373R3: ROLTINE FOR GETTING Rw({S, RKER, RAx[C

.SB”T. GTHRG: ROUTINE FOR GETTING RKCS, RKER, RKDS, Srif
: 3TYRG
:SUBROUTINE FOR TRANSFERRING CONTENTS OF RK(CS, RKER, RKDS
"RKDA 10 SREGO, SREGI snsca $REGI RESPECTIVE. ¢ BEFORE
: TYPING OUT AN’ ERROR hss
{SALL:  JSR PC GTHRG
00S462 204737  J0S+34 ATYRG: ISR GT3RG
00E4k< 21°737 1T3GRe 001:70 MOV ankon SREG3
008<72 305237 RTS

.SBTTL DELAY: TIME DELRY ROUTINE

: DELAY

: 1H1S ROUTINE PROVIDES A VARIRBLE TIME DELAY. THE CRLL FOR ThIS
ROLTINE IS AN ENCODED TRRP INSYRUCTION

DELA N IS ANY OCTAL NO. FROM 1 TQ 177777

IHENDEEREOSR?YIDED IS SN US (CONVERT N TO DECIMAL: FOR 11/2C

IF _THE USER WANTS TO CHANGE THE DELRY TIME (EXMP: SHORTER DELA~ ~.
GET A TIGHTER SCOPE LJOP: THE VARIABLE 'N’ FOLLOWING 'DELAY® SwduLl
:BE CHANGED TO SUIT THE INDIVIDURL NEED.

O0S474 017637 J0000C 30lzZe+ DELA.Y: MOV 8.5P), TIMER T "AMOUNT" (N; FOR JHICH
005502 062716 2C0002 RDD s2..5P D LAY IS TC BE PROVIDED
:ADJUST STACK POINTER T SKIF S.ER N
005506 0CS33" 0Cl2e4 i§: DEC TIMER : COUNT DOWN T0 C
00sSi2 00i37S SNE 13
G0S514  000Ce RTI (RETURN 70 MAIN PROGRAM
.SBYTL CON.RESET: CONTROL REST ROUTIME
; <ON.RESET

[THIS ROUTINE ISSUES A CONTROL RESET AND WAITS FOR
LTHE 'CNTRL RDY® FLAG 10 SET. WHEN THE FLAG SETS
IaN EXIT_IS MADE_OUT OF THE ROUTINE. IF “CNTRL-RDY'
JOES N0 SET MITHIN 8 CERTAIN TIME AN ERROR MESSAGE
CNT RDY DION'T SET
PC=XXXXXX RKCS=YYYYYY N
:;g GIVEN. NCTE THAT XXXXXX IS THE PC WHERE 'INT.RESET" JF "INT.&2-

M :ghh: UN' .RESET

.SBYTL CNT.ROr: WHIT FOR CONTRJL RERCY RCLTI



004

wooll-IZReJ-E. Re.I BRSIC L2310 TEST 1 MACYIL 30,1546, 0B-JUN-T7 14:40 PRGE M2
SIRRJELPLL 13-APR-TT 29: 1M CNT.RCY: WRIT FOR CONTROL REARCY ROUTINE
2166 :CN. DY
3ig !YHIS ROUTINE WRITS FOR THE CONTROL READY BIT TO SET ANC WHEM .~
2168 :SETS EXITS OUT. IF WITHIN A CERTAIN TIME CNTRL RDY DOES
2169 :NOT ggr AN ERROR 15 REPORTED. WAITING TIME IS 883 M FOR 1 2
¥y 1175 M5 FOR [1/45 WITH BIPOLAR MEMORY.
2irl iCRLL:  CNT.ROY
2172 005516 012777 000001 1735624 CN.RST: MOV 81, RKCS :1SSUE A CONTROL RESE”
2173 Q0S54 012737 177500 001170 MOV 8-300, SREG3 :SET UP COUNT
21" 00S532 000402 BR CN.RDY+4 :SKIP OVER {N.RCY
3.75 005534 00S037 00117 CN.RDY: CLR SREGI
Z.76 005540 106777 173504 18: TSTB  QRKCS :DID CNTRL-ROY SET?
2.7 DOSSYY 100435 gM] 38 : YES, EXIT
2iT8 00SS46 005237 00:!7C INC $REG3 :WATTED LONG?
2179 Q0SS5 001372 B 1§ :IF NOT, GO En« 3 WAIT
2180 005584 032777 020000 173356 28: BI #SW13, 3SWR :innig1t TveEout?
£18] 005562 001026 BNE 38 . 1F YES, SKIP TYPECLT
2182 00S564 104N TYPE
2183 00S566 001216 MSG3
284 DOSS70 104401 00SS7T6 TYPE 65 ::TYPE ASCIZ STRING
2185 005579 DOO4O3 BR____ b4 . :1GET OVER THE RS"1Z
34 °} :-£58: (RSCIZ (1Sl Pl=z¢
3187 DOS6OY B4s:
2188 DOSEDY Ol1646 MOV (SP),-.SP,
2189 00SEDe 162716 000002 SUB 82, (5p) |
£:3C D08kl2 104402 TYPCC .50 TYPE PC IN THE MAIN PROSRAM,
2:81 : WMERE ERROR OCCURREL
3199 00Sel4 104401 005822 TYPE  ,B7S :: TYPE ASCIZ STRING
2.93 005620 000404 BR &S . 1GET OVER THE RSCIC
2194 .-67§:  .ASCIZ - RKCS:z/
2196 005632 bEs:
2i9% 005632 017746 [r341s MOV SRKCS, -(SP) :GET RKCS
g;gg 005636 10442 TYPIS 150 TYPE IT
€l
2:99 00Se4C 2000C2 38: RTI :RETURN FROM THMIS
2290 :ROUTINE TC THE MAIN
220! : PROGRAN
5355
2294 . YHIS PART OF THE PROGRAM CONTAINS THE COMMON ROUTINES AL ED
2208 :FROM THE SYSMRC.SML PACKRGE
2236 :
2207
sggg .SBTTL SCOPE HANDLER ROUTINE
22.3 S ERRAREEERRERRRREFRRERARERRAERRRHEEERFRRIRRRE AR ER R RRE R RER IR
2215 : §THIS ROUTINE CONTROLS THE LOOFING OF SUBTESTS. IT WILL INCREMENT
2c.z :¥AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG. (DISPLAY<T:Z
g2.3 :#AND LORD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08)
2214 :#THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
221 : #5W14=] LOOP ON TEST
2zlk :#SW]1=1 INHIBIT ITERATICONS
2.7 : #SW09=] LOOP ON ERROR .
z2.E : #508=] LOOP ON TEST IN SWR<T:O
2z.3 ;¥CALL . .
zzz. i SCOPE :;SCIPE=ICT



EQ4

MI-11i-CSRRJ-E, Rill BARSIC LOGIC TEST I MACYIL 30(1046) 06-JUN-?T  14:40 PRGE 42

TRk JE.PLS 19-APR-T7 09: 14 SCOPE HANDLER ROUTINE
2222 0OS642 §SCOPE:
2323 (08p42 104407 CKSWR :TEST FOR CHANGE IN SOF "-Skk
2224 Q00SEY4 032777 040000 173286 1S: BIT 8BIT14, 2SWR ,.LOOP ON PRESEN™ TEST?
2225 005652 00Ii1! BNE SOVER :YES IF SWiv=l
3226 :lloISTRRT OF coos FOR THE XOR ?tsrznsa-uc
2227 00S6S4 000416 §XTSTR: F RUNNING ON THE "XOR” TESTER wAMSE
2228 ,,THIE }HETRB §°" TQ A "NOP”™ (NCF=z2472,
22c9 DOSeSH 013746 000004 MOV JNERRVEC, - (SP) ::SAV TENTS OF THE ERRCR /EC™ZR
3230 00Sebe 012737 005702 000004 MOV 85S, S8ERRVEC iSET_FOR TIMEQUT
2231 D0Sk?0 005737 177060 157 381270860 : TIME OUT ON XOR”
2232 005674 012637 000004 MOV (SP)+ S8ERRVEC ,.RESTORE THE ERROR VECTOR
3233 005700 000463 BR $SVLRD THE NEXT TEST
2234 005702 022626 5$: CMP (SP)+, (SP)+ %E TACK AFTER A TIME C_°
3335 005704 012637 000004 MOV (SP)+. JRERRVEC ,,n TORE ERROR VECTCR
233t 005710 000423 BR 78 :LOOP ON THE PRESENT TEST
3237 005712 63:: 4au88END OF CODE FOR THE XOR TESTERssass
2238 D00S712 032777 00C40C 173220 BIT $B1T08, 3SWR ;:L00P ON SPEC. TEST”
3239 005720 001404 BEG 28 :BR IF NO
2240 00S722 127737 173212 O©Oil02 CMPBE  QSWR,STSTNM ,,on THE RIGHT TEST?  SWR/T:2.
3241 005730 00ide2 8EQ SOVER ‘BR IF YES
2242 005732 106737 001103 23: TSTB  SERFLG : :HAS AN ERROR OCCURRED”?
22+3 005736 001421 BEG 33 BR IF NO
2244 005740 123737 0OLL1S 001103 CMPB  SERMAX,SERFLG ,,nnx ERRORS FOR THIS TEST ClouRses”
3245 005746 101015 BH] 3 F NO
334 005750 032777 001000 173162 BIT 8BIT0S, 3SKR .,LOOP ON ERROR?
2247 005756 OOI404 BEQ 4 :BR IF NO
2248 005760 013737 O0OL1l10 0ON1106 T8: MOV $. PERR, SLPACR ..SET LOOP ADDRESS 70 LAST SCIPE
2249 005766 000443 BR $SVER
2250 005770 105037 001103 4§ CLR8  SERFLG . : 2ERO THE ERROR FLAG ) |
2251 005774 005037 001206 CeR srxnss ::CLEAR THE NUMBER OF ITERATICNS Y2 ™% Z
2252 DOBODC 000415 BR : :ESCAPE TO THE NEXT TES®
2253 Q06002 032777 004000 173130 33: BIT OBIT;‘ JSKR : INMIBIT ITERATIONS”
2254 006010 00:011 BNE ..BR IF YES
2255 (00e0l2 005737 001100 TST SPRSS . IF FIRST PRSS OF PROGRAM
2256 006016 001406 BEQ o INMIBIT ITERATICNS
2257 006020 005237 001104 znc sr . : INCREMENT ITERGTION COUNT
2258 o06024 023737 001206 001104 srxnes SICHT : :CHECK THE NUMBER OF ITERATIONS MRCE
5259 00e032 002021 BGE sovsn ;;BR_IF MORE_ITERATION REQUIRED
2280 00BO34 012737 000001 001104 1IS: MOV SICNT : 'REINITIALIZE THE ITERATION COUN'ER
326l 006042 013737 00Bll2 001206 MOV snﬁcnr STIMES ::SET NUMBER OF ITERATIONS 10 OO
2282 006050 105237 001102 §SVLAD: INCB  STSTNM' :: SOUNT TEST NUMBERS
2263 006054 011637 001106 MOV (SP), SLPAOR : :SAVE SCOPE LOOP ADDRESS
2264 008060 011637 001110 MOV (5P’ SLPERR ;savs ERROR LOOP ADDRESS B
2265 00e06M 005037 001210 CLR SESCAPE : ;CLEAR THE ESCAPE FROM ERROR AOCREZS_
2266 006070 112737 000001 CO1115 MOVE 8], SERMAX ONLY ALLOW ONEt1) ERROR ON NEX™ £
2267 006075 013777 001102 173036 S$OVER: MOV $TSTNM, 3DISPLAY DISPLRY TEST NUMBER
2268 00El04 013716 001106 nov SLPROR, (SP? ..FUDGE RETURN RDDRESS
€262 00E1l0 (000002 RTI :FIXES PS _
gs;l 90el:2 00°0SS §MXCNT: SC ..nnx NUMBER OF ITERATIINS
ze/
327z
2272 SR RBREAEEA SRR RNRRINER R I R IR R R RRER R RPN RR PR RER IR PR RER SRR RN R0}
2274
Ez7s JSBT"L ERPOR MANDLER ROJTINE

(ARTANTAVTAVIAY)

(#SWic=l HA.T IN ERRCR



F O

—lerl-E, 8nil Bhsu. JOGIC TEST ! MACYIEL 33013460  Ob=JUN=7T  14:90 PAGE +-

-Sgp 'r,‘*_ 19-0PR-T70G: 19 ERROR HWNCLER ROUTINE

Y -o-(jg

Vele D AU ENTIVIET S IV

(NI AR IV NI IR NIN

[ 2R Eo N 2R 2 SR J

S
n
—q

HRNRREIE

arutviusrpiuvniuramnsufomnIruiuiuiviurasiuniiurtIuraraTDIVNY
:a::dg\:(\l

Mo
3] &8 8

[P s N [

: #5K13=1 INHIBIT ERROR TYPEOLTS
: #5W10-1 BELL ON ERROR
.suoq-x LOOP ON ERROR
#SU12=1 CYCLE ON ERROF T PREVICLS 'SCOPE’
' 40 O SERRTYP ON ERROR
0061i4 104MC7 SERROR: CKSWR :CHECK FOR SOFTWARE SWI™\m EN"S- ZE,_£3°
006116 105237 00:103 3. INCB ssanu SET THE ERROR FLAG
Q06122 001775 BEQ :DON'T LET THE F_RG GC TO ZER:
006124 013777 001102 173Cid MOV srsrnn 3CISPLA :CISPLAY TEST WUMBER AND ERRCF =
006132 005237 00112 18: INC SERTTL :COUNT THE NUMBER OF ERRIRS
006136 011637 001116 MOV \SP ), SERRPC :GET ADDRESS OF ERROR INSTRUC™ I
006142 162737 000002 OCliie SUB 82, SERRPC
00€i30 117737 172742 2011l MOVB  aSERRPC,SITEME .SYRIP AND SAVE "HE ERRIR [7Ev 1.2%
006156 032777 020008 17275 BIT w513, a5WR :S¥IP TYPEQUT IF SE”
006164 001004 aNE 2§ Sk P TYPECUTS
006166 004737 0062E 15R PC, 288ERR™YP :33 70 USER ERROR RO.™:
006172 104401 OCl1213 *YFE $LRLF
006176 023737 000042 J0C004E  28: CMP JB42, JeHk ‘ARE WE IN ACTI] ALTOMATIZ ™IZE~
006204 001403 BEQ _+10 1F YES, HALT ON ERRCE
006206 005777 (72726 ST JSWR 'HALT ON ERROR
006212 100002 BPL 3 :SKIP IF CONTINUE
006214 00000" HAL T ‘HALT ON ERROR'
006216 1044L/ CKSWR 'CHECK FOR SOFTWRRE SwI~.= ENVTS SE,_f:”
906220 032777 010000 172712 3§: BI7 85U 12, ISWF S 12 SET?
006226 001402 BE2 6 :NO. BRANCH )
006230 013716 001106 MOV §_PAOR, .SP :R0JUST RETURN ARDRES “2R Sw.Z
006234 032777 0CI100C 1~z&~t BIT #5K083, ﬁSJR :LOOP ON ERROR SWITCh SE™°
006242 001402 BEQ 4§ :BR IF NG
00bo44 J13716 0OL111C MOV $LPERR :CUDGE RETURN FOR _COFING
N0B2SC 005737 001217 4§: 157 sescapt .vnccx FOR AN ESCAPE RDCRESS
008254 001402 BEJ 5§ BR IF NONE
906256 213rle 20:12:C MOV $ESCAPE, . SP 'FJOGE RETURN RJDRESS FoR £2.47E
ACe282 300002 c§: RTI "RETLRN
.SB”TL ERRJIR MESSAGE TrPEOLT RCLTINE
iiilil!!!l!llli‘lil{iliii{il!!*li!l'{!ll!tiiiiliiiii!!iiliiililii
’TB§= RQUTINE USES "HE “ITEN CONTROL BY"E™ \§I'EMB) IO DETESMINE weii~
S 19-BE BEPORTEC. 1" THEN OBTAING. FROM THE “ERROR TRBLE~ $£Ge-2 .
: #AND ﬁEPORTS THE APPRIPRIATE INFORMATION LONCERNING THE EQROP.
206264 SERRTYP:
006264 [04M0I 00:213 TYPE CRLF ;s "CARRIAGE RETJRN™ 8 “.INE FEEC”
006273 01 MO k0. -:SP; ' SAVE RC
72 005000 R RC :IPICKUP THE ITEM INCEX
79 183700 o00111- BISE  IsSITEME.RC
006300 001004 BNE 13 ..IF IT§H NUHBER IS zE : Jus?
906302 013746 201116 MOV §ERRP. , - SF ;;snvz scnnpc ron T\PE»L'
; : ERROR_ACDRESS
006306 104402 TBC 160 Y\PE"JLnQL ASCII(ALL DI3l°s
206310 DOOM2E BR e Vi “
206212 300 18: SEC Z T JS’ *He INDEX SC "MA™ I7 wi_.
SCe3l4 DOE3ND RE. &L : R
ZIE3le 22637 as. 3



2362

237
2

R IV AV AN TR AV ANTANT e VAN AV T AN ANTANTRVI AVT o Y4V
MOEOMOLD =~ 1~ 1IN~
- *tn?wmr-gmm\lmmxwm»

Wit L D L DD LD LI (Dt O Ll talota

(LCD0
Y )

0063
0627
912037

001404
10440'

L‘nacgl

001404
1049401
000000
10440
011000
001004
012600
10440
90C=207

01304
104402
005710

J0641=
03¢

~J

0 m

a0

-
t

l
S
172504

177600
o0coc7
001134

fry O

(S

»--

C7145
JC71E¢e
2CCi7¢e

Q7.2

g Tyl 4
- - --

GJ4
Hg:"‘¢ 3u\¢3'4 35 YJN '.‘ '4 ".r p;':lE '45
ERRCR “ESSASE TYPEOUT ROUTINE

(=]
135 -gsnnra RO : :FORM TRBLE PGINTER
MOV RO+, 2% -:PICKJP "ERRCR MESSAGE™ PCINTER
EQ 3s K P TYPEQUT If MO PGINTER
YPE /PE THE "ERROR MESSAGE™

- @

28: :uggo s aF : :ERROR nessn$£* PGINTER oCEC’fFS
33: MUY tn0;+ 4§ 1:P % u£“°8a"8 choes %51n75§
BEQ -SKIP TYPEOUT IF O
TYPE : TYPE r:E “DATA MEADER"
48 JWORD O "onrn ADER™ POINTER GOES mERE
TYPE SCRLF : "cnnnxncs RETURN" 8 L.NE FEEL"
cs: MOV RO}, RO :PICKUP "DRTA TRBLE®” PCINTER
) BNE  § 160 TYPE THE DATA
5%: MOV SP;+,R0 ..aesrons RO
TYPE §CRLE 'cnnnxncs RETURN“ 8 “_INE FgEC*
-5 RTS 8¢ ,.RETU
MOY J(RO:+,- SP :SAVE @§(RO)+ FOR TYPEQOLT
TYPOC ..GO TYPE--0CTAL ASCII‘ALL CI3:":
ST (RC) : 1S THERE ANOTHER NUMBER’
BEG 6§ : :BR IF NO
TYPE 8% ..TYPE TWO012! SPACES
BR 7% : LCOP
gs: . RSL IL ’ . . “ol E SPRVE-‘
.EVEN

JSBYTL  TTY INPUT RCUTINE

E!filiiilll!iliiii!li&!tiiiii!i&i’tiliiiitl*i’iiiiii!ittif}ttlif
NABL LSB

CEEEER RS AR R R E R R R R R AR AR B AR R R RN R RIS SRR RS2 2444
iSOFTHQRE SWITCH REGISTER CHANGE ROUTINE.

:#ROUTINE 1S ENTERED FROM THE TRAP HANDLER, AND Wl..
:#GERVICE THE TEST FOR CHANGE IN SOFTWARE SWITCH REGISTER "RAS Cao_
- #WHEN OPERATING IN TTY FLAG MODE.
$CKSUR: CHP SSWREG, SWR ;1S THE SOFT-SWR SELECZTEL"®

BNE 15§ ..ennncn IF NO
7578 387KS ..cunn THERE?

8PL 158 ‘IF NO. DON'T WRIT ARILNC
MOVB asrxa -(SP! : :SAVE THE CHAR

BIC $1C177 (5P, ! {STRIP-OFF THE RSCII

CMP 87 (SP}e ..xs IT A CONTROL &°
BNE 154 NG, “RETURN 10 USER .
£MPg SQUYOB.al : :ARE WE RUNNING IN ALTC-MIDE®
BES 15§ ..BRQNLH IF YES

TYPE CNTLS 11ECHO THE CONTROL=G .*3
$37SWR: T/PE SMGWR :1TYPE CURRENT CONTENT

MOV SWRES. - S°. 1 SAVE SWREG FOR TYPECL™ o

TYPSC :GQ TYPE--OCTAL ASSII.Au. CISITS

“YPE  SMNE W ,.PROHPT FOR NEw SWF
198 LR -.GP :CLERR COUNTER

o - .CF "'HE NEu SWR
"% TETR HS'KE comEl THERE®



TISHI-E, Re,. Be§Is 310 TEST L MeOhiD 32 IME.  D6-Ih-TT I4:eD PRGE “E
. IS-RPR-TT 284 TV OINPLY ROUTINE
206316 .003TS BPL 3 . 1F NOT TRr AGAIM
DOES2T  LITTHE  T2wEE Moy8  §87¢8,- SF L PICK UP CHAR
Q06539 dw2rie  Lvtedl BIC gt &F . iMAKE 1T 7-BI” AS.I:
206530 J2162T 000025 ag: CMP .SP -, 825 215 I™ A CONTROL-U”
OC6534 001005 BNE 108 . :BRANCH IF NQOT
303536 104401 007140 TYPE SCNTLL L (ES, ECHO CONTROL-J *.
o0 S42 Jp2r0k  OCCO0E 27§ ADD bt cp . IGNORE PREVIOUS INP.”
00eS4e Q007ST R 194 CIET'S TRY IT AGAIN
30625C 221627 JCOCLS 10§: CMP P, . 815 218 IT A (ZRY?
006554 001022 BNE 168 : :BRANCH IF NG
206556 005766 00CO0H4 *3” 4(SP) L:YES, IS IT THE FIRST Zw-af”
0065¢2 001403 BEG il3 : ;BRANCH_IF YES
0065E4 016677 000002 172346 MOV 2(SP}, ASWR { 1SAVE NEW SWR
906572 062706 000006 118§ ADD 26, SP : s CLERR UP STACK
006S76 104401 0012132 148 TYPE $CRLF ::ECHO <CR, AND «.F.
006602 12372° 001135 Q003! cup8  $INTAG. sl i :RE-ENABLE TTY kBD INTERR._F"Z-
006610 001003 BNE 158 : sBRANCH IF NOT
Q0&12 012777 00CIO0 1~2324 MOV 8100, 8 TKS : IRE-ENABLE TTY KBC INTEQR_P'S
906620 000002 158: RTI . s RETURN
00622 004737 00734u4 163: TSR PC $TYPES ::ECHO CHAR
00bb2e 02:627 00006C cMP .SPY, 860 ::CHAR <« 07
006632 002420 BLY 188 : tBRANCH IF YES
006634 021627 0OD0GT NP \SP . 867 ::CHAR > 77
006640 002015 BGT 188 : 'BRANCH IF YES
006642 042726 0000eS BIC 860, (5P + : :STRIP-QFF RASCI!
006bYe 005766 000002 157 2:5P) 115 THIS THE FIRST CHAR
A066ESe 001403 BEQ 17§ : 1 BRANCH IF YES
006654 006316 AsL (SP) ::NO, SHIFT PRESENT
006656 006316 AsL (SF) ::  CHAR OVER TO MAKE
006660 006316 ASL (P, ::  ROOM FOR NEW ONE.
NDebb2 005266 000002 178 INC 2(5P) ' :KEEP COUNT OF CHAR
b66 0S56El6 177776 8IS -2(SP1, (SF ::SET IN NEW CHAR
0067 000707 _ 8R 73 1:GET THE NEXT ONE
00BE74 104401 00!2:i2 1588: TrPE §QUES s TYPE ?<CRY(LF)
00e?30 00072C BR 208 : :SIMULATE CONTROL-U
DSABL LSB
B FRERECERERFEFERRERPERESERER TR A RERR SRR LR R AR IR AR ERAARRRRRIEZRILE
“EEEE ROUTINE WILL INPJT A SINGLE CHARACTER FROM THE TTY
R :
<% RDCHR ;1 INPUT A_SINGLE CHARACTER FROM THE ~7»
i 4 RETURN HERE ::CHARARCTER IS ON THE STACK
" ::WITH PARITY BIT STRIPPEL JFF
7 1164 SROCHR: MGV (SPJ. -{SP) «:PUSH DOWN THE P2
! ,38§ 31&2&% ac000M 100502 ngv 471SPY, 2 5F) : :SAVE YHE PS
?le 108777 17:222¢ is: TETB  J$TKS ::WAIT FOR
20eT.8  10C37C ePL 18 : 1A CHARRCTER



U4

e cecnrl B, R ST° _oGrs TEST ! MmIyll 332.1046. 06-JUN-77 14:4C PRGE 47
Trerrets T e TaseBRiagrytt ST WO 1ReCY A8 Y ine
- ooerag 17 bk 1?2888 asaoo: n?vs a*rx??q(ssusp ;;RE?DR;HE ;rv CF
47 7 T reA #Cc177) N(SP)
g::g 885;5; 82%359 4ho80S  BRERE: :3 4(5P), 823 ;;gggégﬂg gog{ oL-45
3450 gggrwu ?857%3 172174 23: ?sge 3§sz L TWAIT Fok' o SHRRQCTEP
3451 006750 10037S BPL 28 . 1LOOP UNTIL ITS THERE
2452 006752 lI7r46 172170 MOVB  3$TKB,-{SP, : 1GET CHARACTER
2953 00b7S6 [Q427it 177600 BIC ¥1C177 (5P, : TMAKE 17 7-BIT ASCII
2484 006762 022627 00002: CMP (SP)+, b2] :115 1T A CONTROL-Q”
5455 00BTEE 001366 BNE 2 .1 IF NOT DISCARD IT
3456 006770 000750 8R 13 . 1YES, RESUME
5457 00b772 026627 00004 O0OCI43  38: CMP 4(SP), #140 1115 }7 UPPER CASE”
3458 007000 OGe :o7 BLT 4§ . BRANCH IF YES
2489 007002 Q26b27 0CO00OO4 0OCITS NP 41SP}, 8175 :115 IT A SPECIAL CHAR”
3460 007010 003003 86T 4§ : 'BRANCH IF YES
Z4bl 007212 042766 J00J4C 30000 8IC 40, 4(5P) . *MAKE IT UPPER CRSE
Zw2 Q0T520 00CO02 4§: RTI : GO BACK TO USER
2463 R ERER R RS R REAR AR R RN R R RN R RN A RN A AR RS9 08
34E4 :#THIS ROUTINE WILL INPJT A STRING FROM THE TTY
2465 s %CALL:
2466 ¥ ROL IN . INPUT A STRING FROM THE TTY
2467 S RETURN HERE . {ADDRESS OF FIRST CHARACTER WILL BE IN "HE STACs
§3§§ Ty : 1 TERMINATOR WILL BE A BYTE OF ALL C°3
2470 0Cr022 010346 SROLIN: MOV R3, - (5P, : 1SAVE R3
3471 007024 012703 007130 18: MOV $31TYIN,R3 :1GET RADDRESS
3472 007030 022703 007i4C 2%: CHP #STTYIN+8.,R3  :;BUFFER FULL"
2473 007034 101405 BLOS 43 . :BR IF YES
2474 007036 104410 ROCHR !GO READ ONE CHARACTER FROM THE -
2475 007040 112613 MOVE  (SP)+ iR3) : 1GET CHARACTER
2476 007042 122713 000177 108: cMPB #177,[R3) IS IT A RUBOUT
2477 DO704 001003 BNE s :1SKIP IF NOT
2478 007050 104401 001212 4§ TYPE SQUES S TYPE R 77
2479 007054 000763 BR is : 1CLEAR THE BUFFER AND LCGCF
2430 007056 111337 007126 33: MOVB  (R3),9% : :tECHO THE CHARACTER
248] 007062 104401 007126 TYPE 9§
2482 007066 122723 000015 CMPE k1S, (R3}+ : s CHECK FOR RETURN
2483 007072 001356 BNE 28 : :LO0P IF NOT RETURN
2484 007074 105063 177777 CLRB  -1(R3) : :CLERR RETURN (THE iS5}
2485 007100 104401 001214 TYPE $LF : TYPE A LINE FEED
2486 007104 012603 MOV 158)+,R3 : :RESTORE R3
2487 007106 011646 MOV (SP),~(5P) :1ADJUST THE STACK AND PUT ADDRESS F THE
2482 007110 (Qlebbb 00O0O4 000002 MOV 4(5P} 2(5P) ;e FIRST ASCII CHARACTER ON 1T
2ve3 (007116 012766 007130 000024 MOV s$TTYIN, GisSP)
248C 007124 000002 RTI - s RETURN
2431 007126 000 q%: BYTE 0 : :STORAGE FOR ASCII CHAR. “C TYSE
2432 007127 000 .BYTE O : ' TERMINATOR
3493 907130 000010 $TTYIN: .BLKB 8. : 'RESERVE 8 BYTES FOR TTY INFLT
2434 007140 052536 00SO1S 000 SCNTLU: .ASCIZ /tU/<15><12>  ::CONIROL “u”
3495 (007145 136 00BSO7 000012 SCNTLG: .ABCIZ /tG/¢18>¢1d,  ::CONTROL “G"
0122 §MSWR: .ASCIZ «1S>¢12,/SWR = -

2437 007180 020075 000
249€ 007ie3 C4C 047040 053505 SMNEW: .RSCIZ 7/ NEW = -
2499 007!7C 03e440 000040

S2¢1 .SBTTL TYPE RCUTIMNE

00
z+96 007152 00SClE 053523 02
€



JJ4
“i_ ZZ N -E Q11 BWSIC LOGIC TEST 1 MACYLI 3001048) 06-JUN-77 14:40 PAGE 48
DA 9-#PR-T7 39: 1M TYPE ROUTINE

uuuuu

o ! cRERRERRRERERFRRRRLERRERERRERERE AR R RS R AR E AP R AR AR R R RSN NAS

esgg k¥0UTégSTISET;?ELR?gézRqsgsﬁcg MESSAGE nusrn;ganésnre u;;u A D eerE
¥ H M L
5§8§ H§E kuu EONTQINg ? 8H9R35555 5 THE EILLEE pnnpn ER,
. iNOT 2: SFILLS CONTAINS THE NUMBER OF FILLER CHQRRFTEPS REQUIREC.
gggg !NOTEB §FILLC CONTRINS THE CHARRCTER TO FILL RFTER.
5§19 *uRLL
2611 *11 USING A TRAP INSTRUCTION
3512 TYPE ,MESADR . :MESADR IS FIRST ACDRESS OF AN ASTIZ STRING
2513 ;on
14 : TYPE
15 ;* MESADR
3t *
[=d /
2618 00;174 105737 001157 $TYPE: §§EB ?;PFLG ..IS THERE A TERMINAL?
1
aid 87502 408308 FaCT B8 1T HERE 1F No TERMINAL
2521 007204 (Q0Ou407 BR 33 ,.LERVE
2522 007206 010046 18: MOV RO, - (SP} .8 8
3 337 10 017600 000002 MOV a2l5P), RO ,.GET no RESS OF ASCIZ STRING
--; 112046 2%: MOVB &R0)+.-(SP) s PUSH cnnnnc;s¥ }osas 'YPFD u;TC STACK
N ' H
5352 8875&8 88&932 ﬁsﬁ (§P)+ ?F *Enﬁ¥nﬁ§oa PGP 1 ‘?HB STACe
asag oogaaa oxsgoo 100002 ggs gov (gp)gbno ..RESGO§EREQURN oc
: #2.(
c259 D9o55d BBnas % : APTURR
2830 007232 122716 0000!! 43 cMPR #HT, LSP) .,annuca IF (HD>
2631 007236 001430 BEQ 8%
2532 007240 122 .b 000200 CMPB 8CRLF, (SP, . BRANCH IF NOT ' CRLF>
2€33 007244 001206 BNE S8
253% 007246 005726 ST (SP1+ :POP  <CRo<LF> EQUIV
2535 007250 104401 TYPE .+ TYPE R CR AND LF
2536 007252 001212 $CRLF
2537 DO7254 105037 007410 CLRE  SCHARCNT ..VLEQR CHARACTER COUNT
2638 007260 000755 BR as :GET NEXT CHARACTER
2539 0072%2 004737 007344 5% ISR §TYPEC ..99 TYP§ THI? Sunnncy X
40 3375;5 633758 001156 E3: CHPB sr*LLc. SP)- i IME FO FILLE VHHRS.’
41 007 13 BNE cs F NO GO GET NEXT
25<42 007274 013746 001154 MOV §NULL, -/SP° ::GET 8 OF FILLER cunns "NEECEL
2643 ..nng THE NULL CHAR,
44 007300 105366 GCOOC! 7%: DECB 1(SP) . :DOES A NULL NEE 0 BE TreEC°
R BT o L Bae BB RN e s
00 4 :
4 ?irg 5 185337 azg1e oéca sckgﬁung Db NOT Loun¥ nc A COUNT
3233 00731& 00C77C BR 7$ c: LO0P
Sgg? -HORIZONTAL TAB PROCESSOR
Sggg ggzgao 1271& 000040 B3 MOVE %' . (SP; ..REPLQLE T4B WITH SPAZE
4 734 004737 0OC734y4 3. 1S8R PC $TYPEC :TYPE R SPACE
25E4 007330 1327;7 ageoa”  GoTHID BITE 87, SCHARCNT ..annncn IF NJT AT
/ e
1114 88733E 88§;ai a§§ ?gp,+ ;;#op §P8¢E OFF 3™RCk

£7 20734z 20072+ oF 2% ::aET NEXT CHARRCTER



bouH
N g*a»: . q, IC L9Glc TES® | Y1} 1046. D06-JUN-77 14:40 PRGE 43

) §- AdrSHa gt 1Y Wog Laodr AR
2558 007344 105777 171600 STYPEC: 1578 ?TPE .+ WRIT UNTIL PRINTER 15 REALY
e B5-358 v B
2 000002 17:572 MOVB (SP),asTPB ..Lono CHAR TO BE TYPEL IN"C Ci"A %E,
2561 007360 é§i7§s 000015 000002 MPS lSR.E(SP: éé cunnnE ER A CARPIAGE RET_FN-
2&&5 ;395 007410 9 ‘HRRCNT e E’f-cd mnnacrzn JOUNT
2564 007374  DOON06 qgo00s 18 q STYPEXSP \CRACTER A LINE FEE

T o ot : ( / ' ' L N :'7
eebp HB7dpR pgpiss 0O0cie 29scte BE" voeBs éinﬁcﬂ 9 TERs
2667 007406 105227 (pf)+ : COUNT THE CHARACTER
3668 J0T«15 900500 scnnncnr uono 0 : CHRRACTER COUNT STLRAGE
gggg 007+12 2J00207 §TYPEX: RIS PC
[T
2571
nge .SBTT. CONVERT BINARY T0 DECIMAL AND TYPE ROUTINE
287+ lili!iiliillll!l!!!i!liil!!*i*l!i!!i**i!iif!i!liii!iiifiii!ili&
3875 *kTHIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TC & 5-5150~
gg;g : #SIGNED ogcgnnLT(cscxx) Nun$§5Engn ;ggg IT. DEPENDIN? 2NH?HETHEF ';&
o '{ -
o578 ;*"E"SEE * 9?5 * 818 SFQTHE NUMBER. L aoxnc zgéog Wil LﬂEYS 2
357 : ¥REPLRCED NITH SPACES.
258C cRCALL:
2581 t» MOV NUM, -(SP) .:PLT THE BINARY NUMSER N YHE S™Al.
§§S§ [ TYPDS :G0 TC THE ROUTINE
2584 00TH14 §YPDS:
2585 107414 010086 MOV RQ,- SP° :PUSH RO ON STACK
2E8E 007416 N1014E MOV RI.~i5P: . PUSH R] ON STACK
353~ 007420 010246 MOV R2.-.5P, . :PUSH R2 ON STACK
323g 007422 010346 MOV R3. - (5P} . :PJUSH RI ON STACK
5566 007424 010546 MOV RS - (SP) ,,PJSH RS ON STACkK
3€30 00742t Gl2746  0e0eas MOV nsé 00 . sp‘ uET §Lnﬂxngu TCH nng SIGN
3241 (007432 01660S HOAGE0 MOV Re INUY NU
3592 007436 100004 BP. iBR IF INPUT IS POS
2593 007440 005405 NEG PS ..naxs THE BINARY NUMBER 20S.
2594 (QG74+42 112766 00COSS 2G2CC: MCVB u’- 116P) :MAKE THE ASCII NUMBER NEG.
2595 007450 00S000 is: SLR :: 2ERG THE CONSTANTS INDEX
2596 007462 012703 007630 MOV ISDBLK R3 iSETUP THE OUTPUT POINTER
2897 (07486 112723 0000N0 MCVE R :12ET THE FIRGT CHARACTER "o & Son
2698 007462 005002 23: CLR 2 ..VLEQR THE BCD NUMBER
2699 007464 016001 00Te2C MOV §CTBL (RO .%, :GET THE CONSTANTY
260C 007470 160105 2%: SUB R1.RS FORM THIS BCD DIGIT
2601 007472 002402 BLT 4§ BR IF DONE
2602 007474 005202 INC R INCREASE THE BCO DISI™ Br .
3€07 007476 000774 B 3§
2634 007500 060105 43 DD R1.RS ;:noo BACK THE CONSTAN™
2605 007502 005785 ST R2 gusuu IF BCD D;SIT:O

N 5 (i EH UGH |

§28? §§§§8§ ?gé 16 asge <§p, &LL o?n& _énc?uc 25
606 10 100407 BMI 73 YES
agqg 0075{5 igsale c§: gs%s é;Ps : SEDI
ééx; ngglﬁ i1 223 000001 L7777 ngva 1.5P1, 1R, rES--SE? THE SIGN
Zt.z 007524 062702 (0OO0EC ES: BIS g0 =é ;:MAKE THE BCD DISIT ASIII . . ...
z£.Z 207T3C 352702 000040 78 8IS " IMAKE [T 9 SPRCE IF NoT ALSEATY & IIil
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NI L -IlFrl-E. GRI. BRSI. LOGIC TEST L MACYLL 30.1246. D06-JUN-TT  14:40 PAR3E SC
I e P, "Q-APR-TT 19: 14 CONVER™ BINRRT T2 DECIMAL AND TYPE RCUTINE
2e.v 307534 1.2223 MOVB  R2,(R3 + . :PLT THIS CHARACTER IN THE S_F_" 3_FFE=
2615 007836 005720 76T (RO« ..JUST xncnsnenrxnc
2t.E ~S4C 020027 0000:2 CMP RO, ®10 :CHECK THE TRBLE INDEX
6.7 l'~sqq 2746 8LT gi ..co 07 nexv piGi’
26:8 007546 003002 8GT :G0 70 Ex
2619 00”550 010502 MOV RS, R2 ..csr THE LSO
2620 (007552 000764 BR 68 GO CHANGE TO RSCI!
ggsl gg;gg: 188785 8§ 7578 (SP,+ . : WAS THE LSD THE FIRS™ NON-ZEFL”
%% § 60 i E&g 1 177N 2553 gf(sp) 2(R3) ggsx SET THE SIGN FCR ™ /FINS
2 00 AN i - -2l - - v 3
2624 iiggss 16&013 9% CLRB (R3) ;:SET THE TERMINATOR
2625 007570 012605 MOV {SP)+,RS -POP STRACK INTC RS
2626 007572 012603 MOV (SP)+.R3 ,.POP STACK INTO R2
2687 007?574 012602 MOV (SP)+.R2 909 STACK INTQ R2
2628 007576 012601 MOV (SP)+.RI :POP STACK INT( Rl
2629 007600 012600 MOV {SP)+. R0 :POP STACK INTO RC
2630 007602 104401 00763C TYPE SDBLK :NOW TYPE THE NUMBER
5255 1grgos 16666 0000C2 000004 MCh é(gp) 4(SP) } L ADJUST THE STACK
007 12blE MOV 14, ({S
2633 oo;s1a ooggoe — T*f 0 . RETURN T0 JSER
4 1763 1338
263 007624 DOOI4M 100.
2637 007626 0000:2 10.
gggg 007630 00000 $DB.K: .BLKM 4
as:o _SBTTL BINARY TO OCTAL (RSCII) AND TYPE
Sg‘i i!i*illlill!il!!!!l!*l!!lii!i*ililiiiiii*!}filiiliiiillilifilff
2642 ;rurs ROUTINE IS USED 10 cnnncs A 1b-BIT BINARY NUMBER T2 & &-DI3I~
44 -#0CTAL (ASCIT) NUMBER AND TYPE IT, i o
as:E *Eglfos———snren HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DiGITS ~o ~.=¢
X
2647 L ¥ MOV NUM, -L5P) nunasn T0 BE TYPED
2648 S ¥ TYPQS anL FOR TYPEOQUT
2649 by BYTE N N=I T0 b FOR NUMBER CF DIGITS T2 Yvof
2650 i~ BYTE M .,n-1 oa o
2651 ¥ 1=TYPE LEADING ZEROS
gggg i # 0=SUPPRESS LERDING ZERJS
2654 : #§TYPON----ENTER HERE T3 TYPE QUT WITH THE SAME PARAMETERS AS “HE _A
2655 - ¥§TYPOS OR $TYPOC
265¢ s ¥CALL:
26E7 S ¥ MOV NUM, -.SP) : ;NUMBER TG BE TYPED
Sﬁ%% P TYPON :ICALL FOR TYPEOUT
;I'
26b0 I #§TYPOC---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
ebEl s #CALL:
26k2 'y MOV NUM, - (SP . :NUMBER TO BE TYPEC
5223 : % TYPOC ::CALL FOR TYPEOUT
266S 007640 017646 000000 $TYPOS: MOV J(SP),-(SP) .,chxup THE MODE
2666 007644 116637 00000I C13062 MGVB 1(5P).SOFILL :LOAD ZERQ FILL SWITCH
266” DO7652 112637 Q10065 MOVB (SP,+ §OMODE+1 ::NUMBER OF DIGITS "G “vPE
26EB 00765 06271 000902 ADD 82, (SP) : :ADJUST RETURN ACORESS

*Et3 0207eb2 00CH0E gr §T700N
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71

578
b7
cb75
2676
2677
2678
2679
2680
2681
268¢e
2683
2684
268S
2b86

CaRrJ-E,

'
T aa

387653
87768

007710
007712
007714
007720
007722
007726
007732
007736
007742
007744
007746
007750
007752
007754
007756

010060
C10061
0100&2
010063
010084

DS g1 TEST

118737
11573?
61 737

10346
010446
010546
113704
00S40u
062704
110437
113704
016605
005003
006105
000404
006105
006105

0000eo

B608L  8168k¢

00000S 010082

010065

000006
010064
0100863
000012

010064
177770

000060
000040
010060
010060
010062

000002 000004

BINRRY TO OCTAL

$TYPOC: HSVB
MOV
STYPON: H8VB
MOV

MOV
MOV
MOVB
NEG
RCD
MOoV8
MOVB
MOV
CLR
1%: ROL
BR
23: ROL
ROL
ROL
MOV
ROL
DECB
BPL
BIC
BNE
157
BEQ
4% INC
BIS
S8 BIS
MOVE
TYPE
DECB
BGT
BLT
INC
BR
MOV
MOV
MOV
MOV
MOV
RTI
.BYTE
.BYTE
.BYTE
LBYTE
.WORD

39:

6%:

8%:

SOCNT:
SOFILL:
$OMODE -

.!‘

06-JUN-77
«ASCI1) AND

HaE 1AL
133068
RY.-(5P)

RS -(SP)
$OMODE+1 . RY
RY

86, RY
RY . SOMODE
$OFILL,RY
12(SPJ.RS
R3
)
33

RS,R3

R3

$OMODE

7%
#1777?0,R3

.SBTTL TRAP DECODER

S ERRERERRRARFRIAE AR IRE IR AR AR EF R RRRRER AR RARAR AR REARER AR IR
: §THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE “TRAP" INSTRUCTION
:#AND USE IT TO INDEX THROUGH THE TRAP TRBLE FOR THE STRRTING AODRESS
:%0F THE DESIRED ROUTINE. THEN USING THE RDDRESS OBTRINED IT WILL
:#G0 TO THAT ROUTINE.

4:40

PHGE S,

::3b] FoR 8Ykie, BIcITa <
EE§E$ETES ITERARTION COUNT

: "SAVE RY

: :SAVE RS

::GET THE NUMBER OF DIGITS 70 TrPE

;3 SUBTRACT IT FOR MAX. AL.OWEC
::SAVE IT FOR USE

::GET THE ZERO FILL SWITCH

1 PICKUP THE INPUT NUMBER

: ;CLEAR THE OUTPUT WORD

1 ;ROTATE MSB INTQO *C*

::GO0 DC MSB

::FORM THIS DIGIT

-:GET LSB OF THIS DISIT

- TYPE THIS DIGIT?

::BR IF NO

: GET RID OF JUNK

;;TEST FOR O

; : SUPPRESS THIS ©7

::BR IF YES

+:DON'T SUPPRESS ANYMORF 2°'S
; JMAKE THIS DIGIT ASCII
:iMAKE RSCIT IF NOT QLRERC-
::SAVE FOR TYPING

::G0 TYPE THIS CIGIT

:;COUNT BY |

::8R IF MORE TC CO

1:BR IF DONE

:: INSURE LAST DiIG
::G0 DO THE LRST
;s RESTORE RS

: ;RESTORE RY

; ;RESTORE RJ
::SET THE STACK FOR RETURNING

; s RETURN

;s STORAGE FOR ASCII DIGIT

:; TERMINATOR FOR TYPE ROUTINE
;:0CTAL DIGIT COUNTER

;s ZERQ FILL SWITCH
::NUMBER OF DIGITS TO TYPE

IT ISN'T A BLANK
DIGIT



Me-ai D
SIRKJE.

272k
2727
2728
2729
2730
273l
2732
2733
2734

2769
2770

2775
2778

5978
5999
=780

-y
278!

gRkJ-E, RK]] BRSIC LOGIC TEST |
19-APR-77 09: 14

A1l

010136
010140
010142
010.44
010146
010150

010152

010046
016600
00S740
111000
006300
016000
000200

011646
016666
0Co0Ge

006470

006420
006702
007022

00SS1e
005534
005474

012737
012737
019046
010146
010246
010346
010446
010546
01774¢

" 010637

000002

0i01e2

000004

010320
00034C

170730
C103e4

0000Ge

000024
000026

¢

frdt

MACY1! 30(1046) 0B-JUN-77 14:40 PRGE S2
TRAP DECODER

§TRAP: MOV RO, - (SP) . : SAVE Rg
MOV 2(5P).RO ::GET TRAP ADDRESS
TST -(RO) : :BACKUP BY 2
MOVB \RO), RO ::GET RIGHT BYTE OF TRAP

RO ;;POSITION FOR INDEXING
MOV $TRPAD(RG),RO  ;; INDEX TO TABLE
RO 1 :G0 TO ROUTI

:;THIS IS USE TO HANDLE THE "GETPRI™ MRCRO

§TRAP2: MOV (SP),-(SP) . :MOVE THE PC DOWN
MOV 4(SP).2(SP) . :MOVE THE PSW DOWN
RTI : 'RESTORE THE PSW

.SBTTL TRAP TRBLE

+#THIS THoLE CONTRINS THE STARTING ADDRESSES OF THE ROUTINES CALLELC
:¥8Y THE "TRAP™ INSTRUCTION.

: ROUTINE

$§TRPAD: .WORD  STRAP2
§TYPE  ;;CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE

$TYPOC ;;CALL=TYPQC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LERGING ZERCS®
$TYPOS ;;CALL=TYPQS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEARDING ZERCS:
$TYPON ;;CALL=TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL.
$TYPDS :;CALL=TYPDS TRAP+5(104405) TYPE DECIMAL NUMBER (WITW SIGN:

S$GTSWR ; ; CALL=GTSWR TRAP+B{104406) GET SOFT-SWR SETTING

$CKSWR ; ; CALL=CKSUWR TRAP+7{104407) TEST FOR CHANGE IN SOFT-SWR
$ROCHR ; ; CALL=RDCHR TRAP+10(104410) TTY TYPEIN CHARACTER RCUTIME
$ROLIN ;;CALL=RDLIN TRAP+11(104411) TTY TYPEIN STRING ROUTINE
CN.RST ;;CALL=CNT.RESET TRAP+12(104412) CONTROL RESET ROUTIME
CN.RDY ;:CALL=CNT.RDY TRAP+13(104413) WRIT FOR CNTRL RDY 70 SET

DELAR.Y ;:CALL=DELRY TRAP+14(104414) TIME DELARY ROUTINE

.SBTTL POWER DOWN AND UP ROUTINES ,

e s RRURERNEAEFREEERERARREEEREXEEREREXERERRERFRREREREERAXRERRRRAEXR

:POWER DOWN ROUTINE
$PWRON: MOV #SILLUP, JWPWRVEC ;;SET FOR FAST UP

MOV 8340, JPURVEC+2 ;;PRIO:7 ,
MOV RO, -{SP) : 'PUSH RO ON STACK
MOV RI.-(SP) :1PUSH R1 ON STACK
MOV R2,-(5P) : :PUSH R2 ON STACK
MOV R3,~(SP) : *PUSH R3 ON STACK
MOV R4, -(5P) : 'PUSH R4 ON STACK
MOV RS -(SP) : *PUSH RS ON STACK
MOV ISR, -(SP : *PUSH SWR ON STACK
MOV SP, $5AVRE ! 1GAVE SP



BOS

CoaacTORRC-E, 81l BARSIC LOGIC TESY | MACYL: 3C. 1046, 06-JUN-77  14:40 PRGE S3

IIOKIELPLL [3-RPR-TT 090 1M POWER DOWN ANC UP ROUTIMNES
2782 010214 0l2°3T 010226 000324 MOV 8SPWRUP , 28PWRVEC ;:SET UP VECTOR
3783 012822 000000 HAL T
5?% 3534 200776 BR -2 . . HANG UP
E. - ERERRBERERARERRERERERRCRAARRE AR R R ARRRRSRREFRERERERDF22502D22
2787 - POMER UP ROUTINE
3788 010226 012737 010320 700024 $PWRUP: MOV 8SILLUP, 98PWRVEC ;:SET FOR FAST DOWN
2789 010234 013706 010324 MOV $SAVRE, &P .:0ET oP
2790 010240 005037 010324 CLR §SAVRE ::WAIT LOOP FOR THE TTY
3791 010244 00S237 010324 18: INC §SAVRE iWAIT FOR THE INC
5792 (010250 001375 BNE 18 ::0F  WORD
3793 010262 012677 170862 MOV (SP)+, 3SWR ::POP STACK INTO JSWR
2~94 010266 012605 MOV (5P)+ RS ::POP STRCK INTO RS
3795 010260 012604 MOV (SP)+.RY . 1POP STACK INTO R
5796 013262 012603 MOV (5P)+ R3 ::POP STACK INTQ R3
797 010264 012602 MOV (5P)+ R2 : 1POP STACK INTO R2
2798 010266 012601 MOV (SP)+.R1 : :POP STACK INTC Rl
2799 010270 012600 MOV (SP)+ RO :1POP STACK INTO RO
2800 010272 012737 010i54 000024 MOV #SPURON, J8PWRVEC’ : :SET UP THE POWER DOWN VEC™CF
2801 010300 012737 00C34C 20002e MOV 8340, JsPURVEC+2 ; :PRIO:?
2802 010306 104401 TYPE :REPORT THE POWER FAILURE
2803 010310 010326 SPURMG: .WORD  SPOWER :+POMER FRIL MESSAGE PCINTEFR
280N 010312 012716 MOV (PC)+, (SP) : :RESTART AT PFSTRT
2805 010314 002316 $PWRAD: .WORD PFSTRY : :RESTART RDDRESS
2806 010316 0000G2 RTI )
2807 010320 000000 SILLUP: HALT :: THE_POWER UP SEQUENCE WAS STRRVEC
2808 010322 000776 B8R -2 .. BEFORE THE POWER DCuWN WAS -2M0_E°E
2809 010324 00000C $SAVRE: O ::PUT THE SP HERE
28! 010326 Q0S50S 047530 04252 $POMER: .ASCIZ < 15> (12)“FOMER”
2911 010334 20Ci22
=8i¢ .EVEN
2813
5353 :ERRCR MESSAGES
gg;g .SBTTL ERROR MESSAGES
[=-9¥4
28i8 010336 044524 042615 DM79M0 EMI: LASCIZ /TIME OUT ON RK1l RESISTER
2819 010344 0S2125 47440 020116
2820 010362 D4S522 030461 0S1040
282! 010360 043605 051511 042524
ggsg 010366 000122
2824 010370 042522 044507 052123 EM2: JASCIZ REGISTER “NOT cCLERRED
282 010376 O0SI10S 0470840 052117
2826 010404 D0O91440 042514 OBI1C!
2827 DIDMI2 042105 000
2829 010415 122 041513 020123 EM3: JASCIZ  /PKCS ERRCR:
sgg? 010422 061105 (47522 0GOle2
2832 010430 045522 051503 Q42440 EMu: RSCIZ  .RK2S ERRSR-M WJRITING REGD INL- 8IS
2832 010436 051122 051117 0O474sS
2834 Ql0N4M 020116 061127 052111
263 010462 (47111 020107 Q42522
293¢ CIQYEC 042101 ON7440 OME1iE
2€37 Zi0¢ee 02C.31 0O4§s02 Osicew



C0S
“C-11-CIRRI-E, Rkl BASIC LIGIC TEST 1 MACY.! 30.1046. 0B-JUN-77 14:40 PAGE 54
SIPRIE.PLL19-APR-TT 09:14 ERROR MESSAGES

2838 010474 000
299C  0.47% 102 051525 Q44440 EMS:  .ASCIZ  BUS INIT DID NOT CLEAR RKCS/
! 010s02 ow4sie 02012 QY4S0M
2842 010510 020104 047516 020124
2843 010516 046103 040S0S 020122
G844 0i0524 Q4522 051503 00O
2846 010531 103 02l Q46122 EMe:  .ASCIZ /CNTRL RESET DIDN'T CLEAR PKCS, IN SETING *al”
2847 010836 0S1 051505 052105
3048 010594 (092040 042111 023516
2849 Q010552 (020124 Q46103 040505
2850 010560 020122 Q45522 051503
3851 010866 4 ONT1I: 051440
2852 (010574 0S2105 Q47iil 020107
2853 0i0602 O43W7 023517 OO
2855 010807 103 052116 QMEL22 EM? ASCIZ /INTRL ROY DIDN'T SET RFTER ONTR. RESE”
3956 010614 0SI10N0 054504 0Q4204C
2867 010622 0942111 023516 020124
2858 010630 042523 020124 04310l
3853 01063 042524 020122 047103
286C 010644 0OSIi24 020114 042522
286! 010Se 042523 OOOIRN
3863 010656 042522 OMM507 052123 EMIO:  .ASCIZ  /REGISTER NOT CLERRED.
3864 010664 051105 047040 053117
2865 010672 041440 042514 051101
2866 00700 D42105 D00
2866 010703 122 052513 020103 EMIl: .ASCIZ /RKWC ERRIR/
233 010710 051105 04752 DOOI22
/
2871

2872 ClJ716 045522 040502 0Ove440 EMI3:  .RSCIZ /RKBR ERROR/
28-3 CI072% 0Sli2e 0slill? 00Q

2875 010731 103 052116 046122 EMI4:  .RSCIZ /CNTRL RESET DIDN'T CLEAR REGISTER
2876 010736 0S1040 0S1S05 0S210S
2877 Q010744 Q42040 04211l 023516
2878 010752 020124 046103 040805
2879 010760 020122 042522 OMM4507

Sgg? 010766 052123 O0S1105 eac

288e J13773 22 042113 020101 EMIS:  .RSCIZ -RKDA ERROR-

882 011000 051105 0475¢2 000122

2885 0i1006 052502 020123 Q47111 EMi7: .ASCIZ  -BUS INIT DIDN'T CLR REGISTR/
2886 QOli0l4 0S2ill 042040 042ill

2887 011022 023516 020124 04613

2888 011030 020i22 042522 (44507

gggg 211036 0s2123 000122

268. Dil042 OM20i 0S1I04 051505 EM22:  .ASCIZ - AODRESSING ERROR-TRIED TC ADDRESS REGL. 307 SES:Z
29%9c CJi.0S8C QOMwS232 OM3ELE O4e4H0

zzez 102Gk CEll2z OSIilIT 082CsE



DOS

MC-1i-CIRnC-E, RR11 BARSIC LOGIC TEST | MACYIL 30.10M6: 06-JUN-T7 14:40 PRGE SE

IRk JE.LPLY 19-APR-TT 09: 14 ERROR MESSRGES

2894 011084 04452; l 0
2% 8l 0 g

111 1 2
2897 011l 04780,
2898 Clllly 020124 042522 031107
2899 O0!1122 000

l EM22:  .RSCIZ - DIDN'T CLERR RKCS LOW BYTE:
B 018 ol FHY R
2 11136 0201 ows522 051503
2304 0l11v4 0460NC 0S3S17 ONIONG
2905 011152 0Sel3l 00010S
2907 011156 QN7104 7 EM23: .ASCIZ DIDN'Y CLEAR RK(S HWIGH BYTE- - —_—
209 oii% Geigdd Owiely aabids

I11 1 1513 1
29i0 0il OW4S10 O4M107 OM1040
ggié 01i206 0S2131 000i05
2913 011212 05 832336 09 EM24:  .RSCIZ /TRIED 7O CLERR RKCS °BYTE®, CHANGED ‘REGIS’-
2914 Cil o4 1 14
2915 01l 051101 1090 041513
2916 0lI23 020123 Q041047 (0S2l3l
2917 0lig4y2 023505 020054 Q44103
29.8 011250 ON7101 0M2S07 020104
2919 01125 051047 043505 OSISI!
ggsg 011264 O000ON7
2922 011266 040506 0O46ill 042105 EM2S:  .ASCIZ  FAILED TO CLEAR “REG-BTE°
2922 011274 (0SeOM0 020117 Cu4e103
2% 011302 (0Q4050S 020122 OS1047
292S 011310 043505 041085 0S2i3!
ggg; 01i3i6 0=3s0S 000
2928 011321 122 041513 020123 EM2Ss: .ARSCIZ -RKIS ALTERED ON CLERRING "RES-BY'E'-
2929 01132¢ 046101 042524 Q42522
2930 CI1334 020104 OM7117 O4144C
2931 O0li342 04a2si4 0S1101 O471il
2932 011350 020107 0SI047 Q43505
2933 (11356 041055 062131 023505
gggg CI13%4 000

011365 124 QudsS22 042105 EM2™: ASCIZ . TRIED 73 CLEAR "REG-8YYT.". (HANGED 'REG-BYTZ’

2937 011372 0S204C 020117 Q046133
2938 011400 040505 020122 C51047
2939 011406 043S0S (041055 052131
2940 O1I414 023461 020054 Q441D
%4l Qll4ge 047101 QMeSC? 020104
2942 011430 0S1047 Q43S0S O410SS
53:3 011436 0S2131 023462 ace _
294C Q011443 125 042516 0S0I3C EM4S: ASCIZ - JNEXPECTED RK.1! INTERRUPT
234 011480 Q41505 Q42524 Q02C104
2997 D1I45E Q4SSez 030461 Q44440
g ClIMEY OS2l DE1i0S DS2Sez .
2373 lil47e Jzzl2C a0c o . e



EQS

MO L=CSRRI-E, QL) OBRSIC LS3IC TEST @ MRCHY!IL 3201046 06-IUN-TT 1440 PRGE St
SieniETELT T i9-APR-=7"35: 14 ERROR MESSAGES
2950
335] 81478 _EVEN
2983
2953 SBT"L ERROR DA™A POINTERS
2954
ggsg 011476 001116 J0:162 00000 CTl:  .WORD  SERRPC,SREGO.D
395" DIISOM JCI1:le OGIi62 J01l6% DT2:  .WORC  SERRPC,SREGO,SREGL.O
gggg G11S12 00003C
5366 0.15:4 00116 001162 DOLL6M DT20: .WORD  SERRPC,SREGO.SREG].SREG2.SRESZ.D
§3§§ 011522 J0itg6 DGI170 0000OC
gggg 01:530 OC!!ieé 000000 BT21: .WORD  SERRPC.D
3965 011539 001116 701162 OCii6w DT28:  .WORDC  SERRPL,SREGC,SREGI.SREaZ.
2%6 011592 361l66 DOCODS
3968 |
3369
Sggg .SBTT. ERROR MERDERS
2§32 [DI1S4& 020040 0841520 020043 DMI:  .ASCIZ ¢ PC REG-RDDR
3573 011854 DSiow0 043505 (4C4SS
gg;; S11562 042104 000122
5976 011566 020040 041520 020040 DW2:  .ASCIZ P  REGACC  REZVD
3977 011574 OS1040 043505 ON21ol
5979 011602 020104 020040 051040
Sggg 011610 D41505 042126 00D
2981 011615 040 0SOOMD 020103 DH4:  .ASCIZ PC  EXPCT  RESVD
2982 011622 020040 042440 0SCI130
2983 011630 052103 020040 051040
2994:985 011636 041506 042126 600
2986 011643 040 0S0040 020163 DH3:  .ASCIZ P-  WROTE READ
2987 011650 020040 063440 047522
2988 011656 042524 020040 051047
gggg 011664 040506 000104
3991 01:670 020040 041520 02208 [DHS:  .AS(:Z P: 0,
3845 (011676 020040 042822 053133
gggs 011704 00GioS
2995 (11706 020040 041520 020040 DHli: .ASCIZ - PC WROTE  READ
293 011714 020040 051127 05217
2997 0l1722 020105 02004C 042522
Sggg 011730 042101 000
gggg 011733 040 050040 000103 Ce2l: .RSCIZ - BC-
3002 211740 020040 O4152] 020040 DM20:  .ASIIZ PC  REGI REG2  .RE3Ll. .REa2
3002 11746 020040 042528 039507
3223 011754 020040 020040 051043
3T7c Z1i7k2 DS2E0E Co00BE  02004°



Ml-ii-CSRRC-E, Rkjl BAQIC LOGIC TEST 1 MACY.l 302.1D46: D6-JUN-TT7 14:40 PAGE 57
Sl JELPL 19-RPR-77 09: 14 ERROR HERCERS

3006 Q011770 0SI10SO 043505 Jc44el

306" Ci1776 020040 051050 043505

gggg Cl2004 Qev4ee 000

3010 012007 Q40 060040 020103 OHe4:  .ASCIZ P BY'E  REGIS (REG.EXP (REG.,RECVD/
3011 012014 020040 0OS450e

3012 012022 0Q42Sad 020040 051040

3C13 012030 043SUS 051511 024040

301y 012036 042522 024507 0QS410S

3015 212044 020120 0S10S0 Q43505

3216 012052 051051 041508 O4eles

%E;g 012060 0.5

320.9 (12061 040 0S0040 020103 0H25:  .RSCIZ PC  REG-BYTE RECVC-

3320 Q012066 020040 042522 026537

3021 012074 4502 J42Sa4 05104

%Qgg 012132 0O41S0S 042126 000

3024 012107 Q40 050040 020103 DHEE:  .RSSIZ - PC REG-BYT (IS'EXP ((S.RECVD/
3025 0i2lly 020040 042522 026507

3026 Cl2lge 0S4S02 020129 02404C

3327 Q12130 051503 042451 080130

3026 012136 024040 051503 O0S10S!

gggg Jl12194 O4IS0S 042126 00C

3021 Q12151 040 0S0040 020183 DHET:  .RSCIC pe R-BYT! R-BYTZ 2-EXYPLT 2-RECVD~
3032 012156 (20040 0S1040 041055

3033 (0l2ie4 052131 02006i 0S1040

3034 012172 Q41055 0S2131

203 012200 031040 042455 0S0130

203t 012206 052103 031040 0S10SS

gggg 0l2214 0OMIS0S 042126 000

339 Claz2l 40 020103 DM3C:  .&S2I18 - PO koS RkEF RKJS-
3240 Cleg22b C2004C 020040 Q45522

04, Cle23dv (0SiS03 020040 023040

3042 Jlga¥e 248522 051105 D040 !
3043 Jig2SC C2C04C Duss2e 15C4

g9+ Clz25k Jce

30ws

2280 -
2.E S22l .END



GOS

NZ-.1-IIRRC-E, Rhil BRSIS WSGIC TEST i MACYIL 32.10%6. D0B-JUN-TT  14:40 PSGE 33
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